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Question Number : 1 Question Id : 91394317105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which among the following is a cognitive characteristic of learner ?
Options:

Sensory perception
91394367201, :



Belief
91394367202,

Academic self-concept
91394367203,

Level of visual literacy
91394367204, -

Question Number : 1 Question Id : 91394317105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 2 Question Id : 91394317106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As a teacher you wish to predict the capacity and potential success in your subject. Your
main purpose is to predict, or to identify individuals who have greatest potential for
development along special lines or who are likely to profit most by special training. Which
test you would apply to accomplish that ?

Options:

Aptitude test
91394367205

Intelligence test
91394367206

Personality test
91394367207, ‘

Prognostic test
91394367208

Question Number : 2 Question Id : 91394317106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

215394267205, Eq.ﬁ{‘ Il qﬁw

gfg Tdem

B1334567 206,

faded TLIeu

B1334367207.

215394267208, 1

Question Number : 3 Question Id : 91394317107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Jean Piaget, there are stages of cognitive development.
Options:
2
91394367209,
4
91394367210,
6
91394367211,

B1334567212. 8

Question Number : 3 Question Id : 91394317107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

I3

91334367209,
B91334567210.
91334567211,

91334567212, 8



Question Number : 4 Question Id : 91394317108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
John Dewey explained school as a/an institution, and education as a
process.

Options:

Social, philosophical
91394367213,

a1394367014 D0Cial, social

Economical, philosophical
91394367215

Environmental, psychological
91394367216 '

Question Number : 4 Question Id : 91394317108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

GTHISTeR, ST9I-eh

H1334567213.
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91334567215,
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91334567216,

Question Number : 5 Question Id : 91394317109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following proposed theory of Multiple Intelligencies ?
Options:

g :
a1zaazs701>  Olgmund Freud

T .
1304367015 L1oward Gardner

1394357010 LrIbert Einstein



C Nag
91304367200, J€AN Plaget

Question Number : 5 Question Id : 91394317109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 6 Question Id : 91394317110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Empirical research in social sciences is associated with :
Options:

913943267221 Fictional narratives

Positivist phi[nﬁuphv
91394367222, A

1394367005 [liStorical artifacts

Religious practices
91394367224,

Question Number : 6 Question Id : 91394317110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 7 Question Id : 91394317111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reasoning from a specific case to a general conclusion is known as :
Options:
a159436700c  OCientific logic

Inductive logic
91394367226

Deductive logic
91394367227,

Theoretical logic
91394367228,

Question Number : 7 Question Id : 91394317111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 8 Question Id : 91394317112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of review of literature includes :
a) To understand the subject background
b) To formulate research questions

c) To find out relevant methodology

(

(

(d) To debate the ethical aspects of research
(e) To carry out meta analysis of bibliography

f)  To identify the data sources

Options:

(a), (b), (c) and (d)

15394267229,

(b), (¢), (d) and (e)

B91334567230.

(a), (b), (c) and (f)

B12334567231.

91394367232, (), (d), (e) and (f)

Question Number : 8 Question Id : 91394317112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

41394367229, (a), (b), (0) 3R (d)

(b), (0), (d) 3R (e)

91334367230,



Q1294267221 (El), (b)’ (L) a:ﬁT (f)
(c), (d), (e) 3 (£)

B1334567232.

Question Number : 9 Question Id : 91394317113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If you are to calculate Spearman’s rho, what kind of data you would enter ?

Options:
91394357233 Actual scores

91394367234 Ranks

10 " 1’ -’ l. - -
915394367555 Dichotomous data

MMINE s
. Nominal data

Question Number : 9 Question Id : 91394317113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 10 Question Id : 91394317114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A variable that measures the effect of a manipulated variable, is known as :
Options:

01294367537 Independent variable



Dependent variable

91394367238,
-1 1 'r -~ I-' —)

91394367239, Confounding variable
= g

a1za4357040, —oNtrolled variable

Question Number : 10 Question Id : 91394317114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Id : 91394317115 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension



Read the following passage carefully and answer questions from 11 to 15.

It has to be noted that, although certain overall results had been obtained in the matter of
economic growth in the developing countries regarded as a group, little progress had been made
towards the establishment of the new international economic order within the
framework of negotiations among nations for the purpose of applying the principles adopted in
1974 by the United Nations General Assembly. The situation appeared to be marked by a slowing
down at world level in the effort to find a solution to most of the major problems, due to certain
inability to control the evolution of societies and economies, and a fairly widespread feeling of
uncertainty as to the future. The changes which have occurred between 1978 and 1980 have only
magnified the difficulties, so that today there is much talk of a deterioration in the international
situation. This is immediately apparent in regard to inequalities between human beings, whether
considered as individuals or groups or nations. Overall economic disparities have not been
attenuated. In many countries, per capita gross national product remains less than $ 300, while in
others it is situated at levels ten, twenty or even thirty times higher than this amount. In some rich
countries, the average income is a hundred times higher than in the poorest countries. Particularly
drastic is the state of penury, destitution and, all too often, homelessness of those populations that
may be regarded as history’s most recent rejects: the disinherited masses of the poorest countries.
In these countries, whose economic situation is particularly critical, the problems of hunger, disease
and ignorance experienced by a large part of the population seem to all but paralyse efforts made
to cope with them.

Sub questions

Question Number : 11 Question Id : 91394317116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What was the purpose of principles adopted by the United Nations General Assembly ?

Options:

Considering developing countries as a group
91394367241, 3

Ini sults 1 conomic growth o ping co

o150436704p ODMAINING results in the economic growth of developing countries

R T i ;
a1zaazs7045  LStablishing a new international economic order

X g 1 i " < = . : :
O —— Permitting negotiations among nations

Question Number : 12 Question Id : 91394317117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the consequence due to the little progress made by nations during negotiations 7
Options:
91394357245, Lvolution of societies

91594367246, Control of economies



91394367247 UN mtervention

91394357245, Uncertain future

Question Number : 13 Question Id : 91394317118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is apparent due to the changes occurred between 1978 and 1980 ?
Options:

2 - : +
1304367040 L 1aN adjustment

support of rich co
150436705 OUPPOrt of rich countries

Reduction in poverty
91394367251 ‘

- = T —) lr = L-|
150435705, INNEQuality between human beings

Question Number : 14 Question Id : 91394317119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
How economic disparities are reflected ?
Options:

T —— $ 300 per capita GNP as benchmark

Collectivising individuals into groups or nations
91394367254,

Higher average income for poor countries
91394367255,

Average income of some countries is a hundred times higher than in the poor countries
91394367256

Question Number : 15 Question Id : 91394317120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Whom do you call as history’s recent rejects ?
Options:

" .,‘.,1 .,’ i - "
s1394367257, L1omeless population



lonorant population
9139436705g onoTallt popuile

1504367059 LAISE part of population

0159436 7260, Rich countries

Question Id : 91394317115 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Sub questions

Question Number : 11 Question Id : 91394317116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 12 Question Id : 91394317117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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91334567245,
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B1334567 246,
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Question Number : 13 Question Id : 91394317118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 14 Question Id : 91394317119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 15 Question Id : 91394317120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 16 Question Id : 91394317121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In classroom communication, analogies are considered :
Options:

— _‘ " w y w =
a1zoassrosy  OUPPOItng evidence

91394367565 Unwanted information

91394387263, Control devices

91394367264 Attention-breakers

Question Number : 16 Question Id : 91394317121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

91394367261, qreds qied

AT =1
1594267262,
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91304367264 A1 HIT Sh{q Al

Question Number : 17 Question Id : 91394317122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : Empathy is essential for effective communication between the communicator
and the communicatee.

Reason (R) : Empathy links the teacher and students.

Code :

Options:

91394367265, Both (A) and (R) are true

Both (A) and (R) are true, but (R) is not the correct explanation of (A)

91394367266.
o1394357267 (A) 1S true, but (R) is false
o139436726 (M) 18 false, but (R) is true

Question Number : 17 Question Id : 91394317122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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(A) 3R (R) <1 9&l €, 5 (R), (A) =1 Tl =& 6 2|

B1334567 266,
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Question Number : 18 Question Id : 91394317123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Computer - assisted language learning is called :
Options:
Aided learning
91394387269, ‘ O

0 L o 2
91394367270, Communicative call

9139435727, Language logic

Electronic mediation
91394367272,

Question Number : 18 Question Id : 91394317123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91394367269 T AllCId AT
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B1334567272

Question Number : 19 Question Id : 91394317124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The word "haptics” denotes :
Options:



Spatial communication
91394367273,

1504367074 1 1IMely communication

o s ke
91394367575 Staggered communication

Tactile communication
91394367276,

Question Number : 19 Question Id : 91394317124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 20 Question Id : 91394317125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Social media platforms have created a :

Options:

R st i S
ey Society of reactionary opinions

=, }..‘J T } -q} I.-| - -’ Il'!
a1504ss70re OOCIELY Of consumables

Society of neeativity
91394367279, ty =y ty

Society of networking
91394367280, :

Question Number : 20 Question Id : 91394317125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91394367277, qidishaTeH STTYHT 1 TS
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JhTcHs HHTS
91394387279,

ATkt 5= AT

91334567280

Question Number : 21 Question Id : 91394317126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If DICE is coded as FLGJ, then the code for BITE will be :

Options:

91334567281, D LXI

B1334567 252, DKYH

91334567283, DKVY

'DICL

215394267284

Question Number : 21 Question Id : 91394317126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ffe DICE %1 %< FLG] € a1 BITE 1 %< 21 :
Options:

B1334567281. D LXI

B1334567 252, DKYH

B1334567 283, DKVY

91334567254, DICL



Question Number : 22 Question Id : 91394317127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
9 @ H 3 92 ¥ 1 7, 11, 19, 35, 67, |

Options:

17-
B1334567 285, 121

91334567256,

1

2

B1334567287. 1

C
B1334567 285, 29

Question Number : 22 Question Id : 91394317127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term in the series 7, 11, 19, 35, 67, IS.

Options:

17-
215942687285, 121

B1334567 256,

1

2

B1334567287. 1

C
B1334567 288, 29

Question Number : 23 Question Id : 91394317128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term in the letter series KB, JH, IM, HQ, GT, is.
Options:
91394367289, LY

7
B1334567230, EV

B1334567291. FU

B13345672392. EU



Question Number : 23 Question Id : 91394317128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frfafaa auigss § 37el 92 ® - KB, JH, IM, HQ, GT, 1

Options:

EY

B1334567259.

7
91334567230, FV

B1334567291. FU

B13345672392. EU

Question Number : 24 Question Id : 91394317129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Choose the word which is different from the rest ?
Options:

¥
g139436?293_1 apcr

91394367294, "V ool

m ] PP
91394367295, Llastic

lute
91394367296, -

Question Number : 24 Question Id : 91394317129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91334567233, z

B1334567294.

B13345672395.

91334567256, E



Question Number : 25 Question Id : 91394317130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pointing to a man, Abhijit said “His grand daughter is the only daughter of my brother”.
How is the man related to Abhijit ?

Options:

41394367297, Father

91594367298, Grandfather

91394367299, UNClE

Brother-in-law
91394267300,

Question Number : 25 Question Id : 91394317130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91334567257,

HE

B1334567 295,

B1334567299. =l

91394367300, 3:[
Sub-Section Number: 4
Sub-Section 1d: 913943880
Question Shuffling Allowed : Yes

Question Id : 91394317131 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



Items of Expenditure (¥ in crores)
Year Salary [ Fueletc | Bonus |Interest on Loans| Taxes
2008 57.6 19.6 0.6 4.68 16.6
2009 68.4 22.4 0.5 6.50 21.6
2010 64.8 20.2 0.76 8.32 14.8
2011 67.2 26.6 0.74 7.28 17.6
2012 84.0 28.4 0.80 9.88 19.6

The above table shows details of expenditure incurred by a tea garden during the years 2008
to 2012. Note that all expenditure reported is in crores.

Answer the following questions based on the data given in the above table.

Sub questions

Question Number : 26 Question Id : 91394317132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The average yearly expenditure on “Interest on Loans” during the period 2008-2012 was
approximately.

Options:

: s 1 P y
913943657301 RS- 6.33 crores

91394357302 INS. 6.88 crores

Rs. 8.32 crores
91394367303,

- L I ) - -
91394367304, Rs. /.33 crores

Question Number : 27 Question Id : 91394317133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Bonus as a percentage (%) of salary was highest in the year ?

Options:

912334567205, 2008

B91334567306, 2009

B1334567307. 2010

)1
91334567208, 2011



Question Number : 28 Question Id : 91394317134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which year, was the total expenditure (over the five heads of expenditure listed in the
table above) the least ?

Options:

2008
91394367309,

2915334267310, 2009

91334567211, 2010

2011
91394367312,

Question Number : 29 Question Id : 91394317135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which vyears, the percentage (%) growth of expenditure on salary (as compared to the
previous year), was more than 10% ?

Options:

1304367313 2009 and 2010

a150ams7a14 2010 and 2012

o1394367315. 2011 and 2012

91394367316, 2007 and 2012

Question Number : 30 Question Id : 91394317136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which year, the expenditure of taxes and “Interest on loans’, was less than the expenditure
on fuel etc. ?

Options:
21394267317, 2009
2010
21394267218,
2011

91334567219,



2012
91394367320,

Question Id : 91394317131 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

TRl T (FAST H)

EL| I |TEF TANG| SFE |HOI W S| W
2008 57.6 19.6 0.6 4.68 16.6
2009 68.4 22.4 0.5 6.50 21.6
2010 64.8 20.2 0.76 8.32 14.8
2011 67.2 26.6 0.74 7.28 17.6
2012 | 84.0 28.4 0.80 9.88 19.6

IUYA dIferst ad 2008 ¥ 2012 % SRF Tsh =1 9FTH o @4 o [9aLvil ol g9iidl ¢ | 98 =4F § W@
o quff = e 99 | B
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Sub questions

Question Number : 26 Question Id : 91394317132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T4 2008 - 2012 FT 7Y F SRE BN W =N W SAET At a7 o |
Options:
YT 6.33 FUS T

H1334567301.

Y 6.88 FS T

91334567302

YT 8.32 FS T

91334567203

ST 7.33 FS T

91334567204

Question Number : 27 Question Id : 91394317133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a9 &1 Ffqeadl & ®9 O 9A9 fhg 99 3=q9 o912

Options:

91334567205, 2008



B91334567306. 2009

B1334567207. 2010

201
H1334567308. 2011

Question Number : 28 Question Id : 91394317134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingIeLine Queﬂion Option : No Option Orientation : Vertical

maﬂﬁwm(zﬁaﬁaﬁmﬁaﬁmmﬁmﬁsﬂﬁﬁ)mmm?

Options:

2008
91394367309,

91334567210, 2009

9153394267311, 2010

2011
91394367312,

Question Number : 29 Question Id : 91394317135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frg 94 o 999 W =g 1 gfaeraar gfg (fo=e a9 =61 gaa1 °), 10% 9 31f4e ot ?

Options:

91394367313, 2009 #HR 2010

91394367314, 2U10 R 2012

91394367315 ~U11 AR 2012

a1304367316, 2009 R 2012

Question Number : 30 Question Id : 91394317136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g 99, 3 IR 0 W S WY $4F I W ST &1 gl § FE 917

Options:




2009

21394267317,
2010
21394267218,
201"
91394367319, 2011
2012
213942672320,
Sub-Section Number : 5
Sub-Section I1d: 913943881
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 91394317137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Two propositions are contradictory when,

Options:
Truth of one proposition implies falsity of the other and vice versa.

91394367321, PO} k alstty ¥ 2

N7 f 0 yposition supposes alsity o ) '
1304567300 1 TULT O one proposition supposes the falsity of the other and vice versa

ne proposition doesn’t guar ity o rther.
o1504367305 L TUth Of one proposition doesn’t guarantee the falsity of the other

Truth of one proposition rejects the falsity of the other and vice versa.
91394367324, :

Question Number : 31 Question Id : 91394317137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATy e fadiefi 2t 8 e
p U HI=dl &1 T gL &1 MHea amd € 3R foeima: T 2 2|

91334567321,

e WAl 1§ THY &1 fHeadl &1 geime a1 ¢ iR faeima: T 2 2

915394267322

Uk HId] 1 Hd g8 w1 THeaan st TRET =] 2|

B1334567323.

s WAl 1 Tl Y ohi THeAa1 &1 18 il ¢ IR faeima: T 2 |

2913594367324



Question Number : 32 Question Id : 91394317138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Among the following identify two statements which are in such a relation that the truth of
one implies the truth of the other, but not conversely.

Statements :

(a) All plastics are synthetic.

(b) Some plastics are synthetic.

(c) Some plastics are not synthetic.
(d) No plastics are synthetic.

Code :

Options:

(a) and (b)

91334567325,

(a) and (c)

B1334567326.

(a) and (d)

B1334567327.

(b) and (d)

91334567328,

Question Number : 32 Question Id : 91394317138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafad § 9 U8 1 Sl ot ve=m & S T8 g6 § ¥ 5 U o 9 T F 9 1 Fard € W
foreiTa: U @l e 2 |

hdH :

(a) T AEF Yo F |

(b) FS EAfE Hivee )
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(d) = i Hivere T8 T

Options:

(a) 3R (b)

H1334567325.

(a) 3R ()

21594267326,



(a) 3R (d)

91334567327,

(b) 3R (d)

B1334567328.

Question Number : 33 Question Id : 91394317139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the argument which involves a leap from the known to the unknown.
Options:

Deductive areument
91394367329, e’ -

Reductive argument
91394367330

Inductive argument
91394367331,

Analogical argument
91394367332,

Question Number : 33 Question Id : 91394317139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
39 9 ki U29H H T99H Fd T TG TF 1 THA IEA © -

Options:

i

EULCEIREIGE]

91334567329,

91334367320, STt g

HMATHATHS E|$
31394367331, ¢

H1334567332. z

Question Number : 34 Question Id : 91394317140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises (A and B). Four conclusions are drawn from them. Select the
code that states validly drawn Conclusion(s) (taking the premises individually or jointly).
Premises :

(A) No non-literates are graduates.

(B) All non-graduates are non-teachers.
Conclusions :

(a) All teachers are non-literates.

(b) All teachers are graduates.

(c)  All non-teachers are non-graduates.
(d) No non-literate is a teacher.

Code :

Options:

(a) and (b)

91334567333,

(b), (c) and (d)

91334567254,

(c) and (d)

913345672335,

(b) and (d)

913345673356,

Question Number : 34 Question Id : 91394317140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1= 2 TR a9 (A 3R B) feu U €1 3T IR Ry et U g1 3 F2l = L S (SER
AT F TFA A HA B H o9R) 94 w9 F frer T fremet 61 99 €
ST dTa :

(A) HE ot FReR Fas 728 2

(B) | TR A fonershar 1

frend

(a) quft foreres fRem €1

(b) G foreres w=maek €1

(c) | forershet R = € |

(d) B ot fReR fees =8 T

e

Options:

(a) 3T (b)

2153394267355,



(b), (c) 3 (d)

91334567254,

(c) 3 (d)

913345673355,

(b) 3R (d)

913345673356,

Question Number : 35 Question Id : 91394317141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The argument which claims that its conclusion is supported by its premises conclusively is :

Options:

- ‘_T1 = - o
130436733, Linalogical argument

-t AT o
91394367335, Inductive argument

Demonstrative argument
91394367339,

Deductive argument
91394367340,

Question Number : 35 Question Id : 91394317141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IF 1 € a1 A1 ¢ 5 391 Fohd Ao &7 9 399 SAER 99 g1 9afYd €; Fedd ©
Options:

- HHEATY T

215394267357

9139436735 SIHTHAICHS d°h

- JARHS

91334567359

91394367340, |1 IHICHSD don

Question Number : 36 Question Id : 91394317142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the binary equivalent of the decimal number 53 is 110101, then the binary equivalent of the
decimal number 50 is given by :

Options:



91334567341, 110011

91394367342, 110010

91334567343, 110001

1294367344 110100

Question Number : 36 Question Id : 91394317142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
afe M &A1 53 F1 ITH FUqed (IR IfEEacie) 110101 € A S9HAS H@N 50 F1 I
AT B :

Options:

21594267341, 110011

91394367342, 1 10010

91394367343, 110001

91394367344 110100

Question Number : 37 Question Id : 91394317143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is not part of suite of products of Microsoft Office ?
Options:

913943267345, Microsoft Excel

LTS - 2 r B P
91394367346, Microsoft PowerPoint

91394367347 Microsoft Publisher

T Microsoft Windows

Question Number : 37 Question Id : 91394317143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

b S, -
91394367345, =M Ll

91304367346, 1 2nIMle HIAHE e

913345672347, |5: T4 JTsetRI
91334567348, EI K |

Question Number : 38 Question Id : 91394317144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The Internet began with the development of :
Options:
2153942672349 USENE]

91394367350, LXtranet

91394367351, ARPANET

91394367352, [Ntranet

Question Number : 38 Question Id : 91394317144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
3 I YEIATT fohdF fom 4 g2 ?
Options:

91334567245, [‘
91334567350, o

21594267351,

2153394267352,

Question Number : 39 Question Id : 91394317145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



RFID 1s an acronym for :
Options:

Roaming Frequency Identification
91394367353, ‘

’ : T . — 3 A L
1394357354 Radio Frequency ldentification

Runtime Frequency Identification
91394367355. ’

3 - H T Hiouisn
sisaiseresy emote Frequency Identification

Question Number : 39 Question Id : 91394317145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AR UF. L. 1. fFue y=-Hay €72

Options:

91334567353, : | d

91334567354, | ” | 5 :
91334567355,

91334567356, !

Question Number : 40 Question Id : 91394317146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Bluetooth is an example of :
Options:

J
91394367357, L AN

91334567358, LAN

91394367359, MAN

B1334567360, WAN

Question Number : 40 Question Id : 91394317146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2 Tt Sa & 7

Options:

91334567357, ﬁﬂ“qﬁ

L G AL B

2153394267358,

B1334567359. ‘Q'rq‘q'-q‘:l

CED R

215394267360,

Question Number : 41 Question Id : 91394317147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Recently in Brazil, a bacterium showed the antibiotic resistance, which was not reported
previously :

Options:

Pseudomonas species
91394367361,

Salmonella species
91394367362,

3 T - - — X
1304367353 [alebsiella species

Streptococcus species
91394367364,

Question Number : 41 Question Id : 91394317147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51394367361, L el N SHINISI

e i

B1334567362

e wE

B1334567363

51394367364 % clriaens ISl



Question Number : 42 Question Id : 91394317148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

One of the following has a positive human influence on the environment :
Options:

9139436 7365, Deforestation

Over pop ulation
91394367366,

2 *
91394367367, Pollution

91394367368, Conservation

Question Number : 42 Question Id : 91394317148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafafad § 9 fFee e | SIS qHa-99md © 2

Options:

91 T FelE
Q1394267265 $
Q1294267 266,

2153394267367, ?‘\

*

HLET

21594267368,

Question Number : 43 Question Id : 91394317149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The environmental impact of soil erosion can best be mitigated by removing
vegetative cover only from the specific site on which construction is to take

place.

Reason (R) : The environmental impact of soil erosion can also be mitigated by disturbing
the vegetation in adjacent areas as little as possible.

Code :

Options:

01394367359 DOth (A) and (R) are true and (R) is the correct explanation of (A)



Both (A) and (R) are true but (R) is not the correct explanation of (A)

51394367370.
sisedsssss (A)1s true, but (R) is false
1304367370 (A) 18 false, but (R) is true

Question Number : 43 Question Id : 91394317149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IFYHRAT (A) : oI AWST o YIELOT Y91E =1 kael 070 & & foau 29 e favm 4
FTEafd I gL Sgd T4 KH fohan S Tehdl 2 |

e (R) : TR 3T9LEA o JATEL0id Y9TE 1 Higadt &3l § geafd § gfiedd ot of +1
foman <1 Tha €

e

Options:

(A) 3R (R) S 9&l €, 3 (R) (A) 1 Hel 71 ¢ |

B1334567369.

(A) 3R(R) < W& €, T (R) (A) 1 HEl =0 e ¢

913345672370

(A) H@l B, T (R) TTeTd B

91334567271

(A) e €, TR (R) WET 2

B1384567372

Question Number : 44 Question Id : 91394317150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Hydropower is an exhaustible energy resource.

Reason (R) : The power of falling water would neither diminish nor get exhausted.
Code :
Options:
a1304367375 DOt (A) and (R) are true and (R) is the correct explanation of (A)

1304367374 DOth (A) and (R) are true but (R) is not, the correct explanation of (A)

a1304367375. (A) 1S true, but (R) is false

1304357375 DOt (A) and (R) are false



Question Number : 44 Question Id : 91394317150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ATHHIT (A) :  STATTHA Sl ol AT B dTe TE1EE T |
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che :

Options:

(A) 3R (R) SH1 H&l € 3iR (R), (A) T Hel 7 € |

2153942673735,

(A) 3R (R) SF1 T2 € T (R), (A) T Tl =aremn T4 g |

91334567374,

| (A) TE &, T (R) TTord T

215394267375

(A) 3R (R) SHI T € |

91334567376,

Question Number : 45 Question Id : 91394317151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the scheme of life, soil is an essential resource of life, as it plays the following roles.

(a) Itis a reservoir of carbon.

(b) It is the medium for growth of food and energy for the animal world.
(c) It provides oxygen to the biotic community.

(d) Itis a natural reservoir for the huge amount of water

Select the correct answer from the above :

Options:

(a), (b) and ()

91334567377,

(a), (b) and (d)

B133456737E.

(b), (c) and (d)

91334567379,

(a), (c) and (d)

215394267380,

Question Number : 45 Question Id : 91394317151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a), (b) 3R (c)

B1334567377.

(a), (b) 3T (d)

91334367375,

(b), (c) 3R (d)

B1334567373.

c) 3R (d)

91394267330 (a), (

Question Number : 46 Question Id : 91394317152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In terms of year of establishment, which open university is the youngest among the following
(established most recently) :

Options:

SR ST Tamil Nadu Open University, Tamil Nadu

Odisha State Open University, Odisha
91394367382, ’

= - -~ - %, = -] = L1‘ T L‘._‘
o1594zar55z 1Iishna Kanta Handique State Open University, Assam

s e R ? _ ; o o
— Pt. Sunderlal Sharma Open University, Chattisgarh

Question Number : 46 Question Id : 91394317152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:




91394367351 dlHcilg Had laxdidelicd, diHdqlg

~ 3fifew T g favafammea, sufewm

215394267382

91334567353

91334567354

Question Number : 47 Question Id : 91394317153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the following :

Set -1 Set - 11
(a) Swayam Prabha (i) FM education radio network
(b) GIAN (Global institute (ii) Internet audio counselling service
of Academic Network)
(c) Gyan Vani (iii) Free DTH channel for education
(d) Gyan darshan (iv) Talent pool of scientists and entrepreneurs for
engagement with Indian higher education institution
(e) Gyvandhara (v)  Educational Television Channel
Code :

(@) (b) (c) (d) (e)

Options:

91334567385, (1) (I_I'.) (V) (IV) (I_LI'.)

01304367386, () (1) () (1) (V)
91394367387, (i) (v) (@) (v) (i)

(v) (i) @) () (@)

91334567358,

Question Number : 47 Question Id : 91394317153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freifera =1 gHferd =i -
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91334567385, (1) (I_I'.) (V) (IV) (I_LI'.)

01394367386, @) (1) (v) (@) (V)
o1394367387. (D) (V) (©)  (v) (i)

(v) (i) @) (v) ()

215394267388,

Question Number : 48 Question Id : 91394317154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The institutions of eminence tag granted by the union government in public sector are :

(a) 1T, Delhi

(b) 1T, Bombay

(c) Jawaharlal Nehru University, Delhi
(d)  University of Hyderabad

(e) Pondicherry University

(

f) Indian Institute of Science

Options:

(a), (b), (d) and (e) only

91334567389,

c), (e) and (f) only

B91334567330. (b)’ (



(El), (b) and (f) UH[}-'

913345673591,

(l.'_"), (d-)r (E) and [:f} (]]_‘l[}r

91334567392,
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Yd TN A FrEsiTe &5 1 o gafeps Heem 1 g fean 22
(a) STE.3AEE, T
b) maﬁ?ﬁ,a}ﬁﬁ

(

(c) SR Je% favafaeme, faed
(d) Tevars favafammer

(e) urfvg={l favafaame

() YR faqm HeH

fad (a), (b), (d) 3T (e)

21594267389,

&% (b), (c), (e) 3R (f)

B13345673390.

fa® (a), (b) 3R (f)

91334567391,

fadh (c), (d), (e) R (f)

91334567392,

Question Number : 49 Question Id : 91394317155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following was launched on 2 October 1978 (the birthday of Mahatma
Gandhi) ?

Options:

National Adult Education Programme
91394367393,

91394367394 LAUSAT



First educational radio channel
91394367395,

10+ 2+ 3 Scheme
91394367396,
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friferd 8 9 9 2 SRR, 1978 (HRICH T o1 57 foad) &1 URY T 7o o1?

Options:

T2 Uig e Feswy

913345673593, o

91:924367394. %
™ %

o Ifferes IFed =

91334567355,

10 +2 + 3 IS

B1334567336.

Question Number : 50 Question Id : 91394317156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
On the recomendations of which commission, 10+ 2+3 structure was incorporated in the
statement of National Policy on Education, 1968 ?

Options:

] - = -'T _" -l1l.|1 "
91394367397, Kothari Commission

; - el -T " -l1l1. "
91394367398, Mudaliar Commission

91394367399, Ramamurtt Commission

Mandal Commission
91394367400,

Question Number : 50 Question Id : 91394317156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o M &t Fawer 92 10 +2 + 3 L1, T2 e ifd, 1968 & aadqsg § i &l T8 o ?

Options:

IS AN

B13345673397.
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Correct Marks: 2 WrongMarks: 0



Which of the following statements are correct ?

(i) The Preamble embodies the intentions of the founding
fathers and objectives of the Constitution.

(ii) The word ‘Socialist’ in the Preamble aims to eliminate
inequality in political and religious matters.

(iii) The solemn resolution in the Preamble of the Constitution
of India iz made in the name of the people of India.

(iv) The Preamble of the Constitution of India is solemnly
resolved to secure to its people Fundamental Rights,
Fundamental Duties and Directive Principles.

Choose the correct answer from the code given bhelow :

Code :
Options:

Only (i) and (ii) are correct.
91394367401,

Only (i), (ii) and (iii) are correct.
Q1294367402

Only (i) and (iii) are correct.
91394267403,

Only (iii) and (iv) are correct.
91394267404,

Question Number : 51 Question Id : 91394317157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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291394267401, o (D) R (i) 7§

Fad (1), (i) 3 (i)
91394367402, vt i) T &



H1334567403. (0 3 i) e &

91334567404, e (i) 3 (i) TN &

Question Number : 52 Question Id : 91394317158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements is/are correct ?

(i) When the court declares certain provisions of the Act as
invalid and affects the validity of that Act, this principle is
known as Doctrine of Severability.

(ii) It is the perspective character of Article 13(1) which gives
rise to the Doctrine of Eclipse.

(iii) The American doctrine of waiver of Fundamental Rights is
part of the Indian Constitution.

(iv) The doctrine of perspective overruling was not applied in
1.C. Golaknath vs State of Punjab.

Choose the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iii) are correct.
91394367405,

Only (ii), (iii) and (iv) are correct.
91394367406,

Only (ii) is correct.
Q1394367407

Only (iv) is correct.
91294367408,

Question Number : 52 Question Id : 91394317158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 53 Question Id : 91394317159 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match List-1 with List-1I and select the correct answer using the code given below.

List I List IT
(a) M. Nagaraj ve Union of India (i) Case on National Security
(b) Indira Sawhney vs Union of India (ii) To provide reservations in
promotions for Scheduled
Castes and Scheduled Tribes

(¢) Mohini Jain vs State of Karnataka (iii) Application of creamy layer
to 0.B.C. quota

(d) A K. Roy vs Union of India (iv) On capitation fees

Code :
Options:
(a)(iii), (b)~(1), (e)-iv), (d)—(ii)
91594367409

(a)—(ii), (b)), (e)iv), (d)—(i)
915394267410,

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
91394367411,

Yes



(a)—{iv), (b)—(1), (e)—(ii), (d)—{iii)
91394367412

Question Number : 53 Question Id : 91394317159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)—{iii), (b)), (e)—{iv), (d)—(ii)
91394367409

(a)—(ii), (h)—(iii), (e)—(iv), (d)—(i)
912394367410.

(a)—(ii), (b)—(iv), (e)~(i), (d)—iii)
91394367411,

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
91394367412

Question Number : 54 Question Id : 91394317160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which constitutional amendment accorded primacy to the Directive Principles of State
Paolicy over Fundamental Rights ?

Options:
24th Amendment
Q1594287413

th
91394367414, 25" Amendment

nd
91394367415, 427" Amendment

th
91394367416, 44" Amendment
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Correct Marks: 2 Wrong Marks: 0
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Options:

Q1294367413 2431

Q1294367414 2531
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Question Number : 55 Question Id : 91394317161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following cases, the Supreme Court held that any Member of Parliament,
Member of Legislative Assembly or Member of Legislative Council who is convicted of a
crime and given a minimum of two years imprisonment loses membership of the House with
immediate effect ?

Options:
91594367417, M.S.M. Sharma vs Sri Krishna Sinha
Ramakrishna Hegde vs State of Karnataka
91594367418,
Hardwari Lal vs Ch. Bhajan Lal
91394367419,
Lily Thomas vs Union of India
91394267420,

Question Number : 55 Question Id : 91394317161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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THHS BTG T FAlCh T
91394367418,

ggrlt STe == =t Wad W
91394367419,

91334567420, i &

Question Number : 56 Question Id : 91394317162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A ‘distinguished jurist’ can be appointed as a Judge of
Options:

913943674p1 1 District Court

A High Court
215394267422,

The Supreme Court
91334267423,

91394367404  he International Court

Question Number : 56 Question Id : 91394317162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Fafire faftramr 6t Frgfes e —amamem % =t & w9 & 6t o a6dt 8 2
Options:
91394367421 Tt IR

91334567422, o=

91394387423, S0 e

HraUeda T

B1384567424
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Correct Marks: 2 Wrong Marks: 0

In which of the following cases the Supreme Court held that placing ordinance before
Legislature is mandatory; Re-promulgation of ordinances is fraud on the Constitution ?

Options:



Krishna Kumar Singh vs State of Bihar
91394367425

R.K. Garg vs Union of India
91394367426,

91394367407 aru Ramvs Union of India

K.M. Nanavati vs State of Bombay
91394367428,

Question Number : 57 Question Id : 91394317163 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

freafafiaa & & fem arg & souaa =amare 3 sgaean § 2 o Tt & ane sramm &t wega w0
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Options:

Fan fag aam fagn vs9
91394367425, ™

B1334567426, AR THE b
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Question Number : 58 Question Id : 91394317164 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statements are correct ?

(i) In Harvinder Kaur vs Harmander Singh Choudhary the Supreme Court rejected the
plea that personal law was discriminatory towards gender equality in India. It also
observed that introduction of constitutional law into the personal laws was
appropriate.

(ii) Selvivs State of Karnataka deals with Rights of transgender.
(iii) Shreya Singhal vs Union of India deals with Right to freedom of speech and expression.
(iv) Sarla Mudgal and others vs Union of India deals with the Rights of converted Christian

WOINen.

Choose the correct answer from the code given below :

Code :
Options:

Only (i) and (ii) are correct.
291394267429,

Yes

Yes



Only (ii) and (iii) are correct.
91394367430

Only (ii) and (iv) are correct.
91394367431,

Only (iii) and (iv) are correct.
2153942674352,

Question Number : 58 Question Id : 91394317164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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D1394267429. = (@) AR (u}ﬂ'@"lﬁ
21394267430, v (i) 3 {m}'ﬂ'{l%
21394267431, v (i) 3 {W}Hﬁ%
21394267432, e () 3K {W}F&ﬁﬁ
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The Council of Ministers holds office during the pleasure of the President of
India.

Reason (R): The Prezident of India ecan dismiss the Ministers at his discretion.

Code:

Options:



Both (A) and (R) are true and (R) is the correct explanation of (A).
91394367435

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q15943267454

(A) is true, but (R) is false.
91334567435,

(A) is false, but (R) is true.
91294367456,

Question Number : 59 Question Id : 91394317165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(A) 3 (R) q9T (R), (A) i 98t =amean & |
91394367433, i wd & e &

(A) 3 (R) g1 @t &, g (R), (A) i Gt = 78 # |
91394367434

(A) Tt 7, (R)Ted 2 |
Q1394267425 m

(A) T &, Wg (R) @&t 2 |
91394367436,
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Correct Marks: 2 Wrong Marks: O

Mention the correct chronological sequence of the following Advisory opinions given by the
Supreme Court of India under Article 143 of the Constitution of India.

(i) In re Keshava Singh case

(ii) In re Berubari case

(iii) In re Delhi Laws Act caze

(iv) In re the Sea Customs Act

Choose the correct answer from the code given below :
Code:

Options:



(1ii), (1), (ii), (iv)
B1334567437.

(i), (1v), (1), (1)
91334567438,

(1), (ii), (iv), (1)
B91334567439.

(i), (i1), (i), (iii)
91334367440,

Question Number : 60 Question Id : 91394317166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Wt Gfaum % a=dy 143 % avfia YHa % = e g fo o fefafas gemead o9t
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(i) e g arg

(ii) swail a1
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(iv) Tt Hmmyes aafufem
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(1), (i), (i), (iv)
B1334567437.

(iii), (iv), (i), (i)
91334567438,

(1a1), (i), (iv), (1)
91334567435,

(iv), (ii), (1), (ii1)
291334567440,
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Correct Marks: 2 Wrong Marks: 0



Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List II
(a) K.L.N.V. Veeranjaneyulu vs (i) Women’s right to Love and Reject
Union of India and others

(b) Abhiram Singh vs C.D. (ii) Every author hasa
Commachen (Dead) by LRS and fundamental right to speak
others out ideas freely and express

thoughts adequately

(¢) Pawan Kumar vs State of H.P.  (iii) States are not empowered to
create office of

Parliamenatary Secretary
(d) Bimolangshu Roy (Dead) (iv) Seeking vote in the name of
through LRS vs State of Assam religion, caste is corrupt
and others practice
Code:
Options:
(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91594367441,
(a)—ii), (b)—(iv), (e}—(i), (d)—{iii)
91394367442,
(a)(iii), (b)), (e)—(iv), (d)—(ii)
91394367443,
(a)—(iv), (b)—(iii), (e)(ii), (d)—(i)
21394267444,
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Options:

(a)(ii), (h)—1), (e)-(iv), (d)iii)
91394567441,



(a)—(ii), (b)—(iv), (e)~(1), (d)iii)
91394367442,

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
9139453674453

(a)—iv), (b)(iii), (e)(ii), (d)—(i)
91394367444,

Question Number : 62 Question Id : 91394317168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Proclamation of emergency can be issued by the President of India if there is
an imminent danger of war or external aggression or internal

disturbance and armed rebellion.

Reason (R): The President of India can suspend the enforcement of some fundamental
rights during the period of emergency.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
291394267445,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394367446,

(A) is true, but (R) is false.
G1394267447.

(A) is falzse, but (R) is true.
Q1594367448

Question Number : 62 Question Id : 91394317168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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(A) 3R (R) ST &t &, T (R), (A) At Tt sameen 2 & |
91394367446,

(A) T 2, 9 (R) Tera R |
Q1294367447

(A) T 2, TG (R) W&l 2 |
Q1294367448

Question Number : 63 Question Id : 91394317169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0

Which one of the following jurists used the two expressions ‘formal’ and ‘material in
defining the term Jurisprudence 7

Options:

91394367449, 11ans Kelsen

91394367450, o Holland

Jeremy Bentham
91334367451,

Dennis Lloyd
91324567452,

Question Number : 63 Question Id : 91394317169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

& THedd
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a3, g

91334567450,

91334567451, o

B1334567452,

Question Number : 64 Question Id : 91394317170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following statements and give the correct answer by using the code given
below :

(i) Positive law is made by the sovereign, and positive morality not by it.
(ii) Positive law is made by the sovereign, and positive morality by God.
(iii) Positive law is made by the sovereign, and positive morality by the consent of the

people.
Code :

Options:

Only (i) and (ii) are correct
91:94367453.

Only (i) and (iii) are correct
91:942367454.

Only (ii) and (iii) are correct
91594267455,

All (i), (ii) and (iii) are correct
91294367456

Question Number : 64 Question Id : 91394317170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafaa wu=i w foam i il = for e %52+ 39 & o8t s i

(i) wFrTees fafe |y g = ot 8, o wehreres Afaskar s g 76 @9 Wt 2
(i) wRRTeHe: fafe |wy g == st B, o T Afaskar $vet g |

(iii) TR fafe wwy g =md st R, oif e Afarsmar S < wamf g o

®e:
Options:

91394367453 () 3 i) 7 &

91394367454, T (0) S (i) T R

91394367455, (i) ST (i) T §

aft (i), (i) ot Giid)
91394367456, i i) 7 &

Question Number : 65 Question Id : 91394317171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is not a statement from the Hart's theory ?

Options:



Law is a system of social rules which acquire the character of legal rules.
91394367457,

The union of the primary and secondary rules constitutes the core of a legal system.
Q13943267458 P egal sy

A ‘legal rule’ can be defined as one which prescribes a code of conduct, which is done with

the feeling that such conduct is obligatory.
Q1394267459 g ligatory

41394367460, The law iz a normative and not a natural science.

Question Number : 65 Question Id : 91394317171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fraferfaa & & sta-an %u= g & faga @ 728 fmmn 2 2
Options:

fafer araforen Frami &t saaeen @ St St Frawt &1 wev affa = ad 7
91394367457

91394367458, it fadfraes femt 1 wfidrer Frph e 3199 2 |

it frae’ it 58 w9 | sfonfys e s awa @ 6 9 a7 Fraw @ St smem gfga Faffa s g,

91394367459, S 78 9T % T o A @ o R Srew e R |

fafer Framres fosms 2, 7 fo wrpferes o
91394367460, g

Question Number : 66 Question Id : 91394317172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List IT
(Book) (Author)
(a) Elements of Jurisprudence (i) B.N. Cardozo
(b) The Nature of Judicial Process (ii) H.L.A. Hart
(¢) Dilemmas of Law in the Welfare State (iii) T.A. Holland
(d) The Concept of Law (iv) L.M. Friedman
Code:
Options:

(a)—{i), (b)—(ii1), (e)—{iv), (d)—(ii)
91394367461,



(a)—ii), (b)—(iv), (e)—(i), (d)—iii)
91534367462,

(a)(iii), (b)~(1), (e)-iv), (d)—(ii)
91234267463,

(a)iv), (b)—(ii), (e)—(i), (d)—(iii)
B1334567464,

Question Number : 66 Question Id : 91394317172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o gt 11t wgl & farama Aifsrg ait = feg e e 9 & ot 3w =6t 9fiw
o g I
(357) (@)

(a) fertiea e sqfagea (i) e, FrEE

(b) g F= 3% g dew (i) TH.USA.U. BT

(c) STEHTH % & 3 ¢ IO Ve (i) &0, v

(d) g e G & (iv) TeL.UH, HEEHT

®e:
Options:

(a)—(1), (b)(iii), (e)—iv), (d)—(ii)
91324267461,

(a)—ii), (b)—(iv), (e}—(i), (d)—{iii)
91334367462,

(a)(iii), (b)~(1), (e)-iv), (d)—(ii)
91234267463,

(a)iv), (b)—(ii), (e)—(i), (d)—(iii)
B1334567464,

Question Number : 67 Question Id : 91394317173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List IT
(Theory) (Jurist)
(a) Normative order (i) Rudolf Stammler
(b) Theory of Justice (ii) Thering
(¢) Natural law with variable content (iii) Kelsen
(d) Social Utilitarianism (iv) Rawls
Code:

Options:



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91234367465,

(a)(iii), (b)~(1), (e)-iv), (d)—(ii)
91234267466,

(a)—(iii), (b)—(iv), (e)-(i), (d)—(ii)
B13345674E7.

(a)—ii), (b)—(iii), (e)—(iv), (d)~(1)
91334367468,

Question Number : 67 Question Id : 91394317173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl 1 gt 11t wgl & fram Aiforg sit = feg e e 9 & ot 3w =t 9f

gt I gt I
(frgma) (farfiram)
(a) Frams sgaen (i) ®Eieh Brr
(b) = =1 faga (i) zgfan
(c) wfadafiet fova-axg areft wfaes fafer (i) ewm
(d) grarfaes Iutfirar (iv) Ted
@:
Options:
(a)—ii), (b)—(ii), (e)—(iii), (d)—(iv)
91394367465,
(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394367466,
(a)—{iii), (b)—(iv), (e)—(i), (d)—(ii)
91394367467,
(a)—(i), (b)—(iii), (e)—(iv), (d)—(i)
91394367468,

Question Number : 68 Question Id : 91394317174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which theory of punishment is based on the humanistic prineciple that even if an offender
commits a crime, he does not cease to be a human being ?

Options:

Preventive theory
291394267469,

Retributive theory
21594267470,



Reformative theory
91394367471

Deterrent theory
91394367472,

Question Number : 68 Question Id : 91394317174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
w-a1 gve forgia 38 wradrard fagra w st 8 6 foreft st 3 arqmg F % ST 39
A B %1 & FHIH AgT & i@ ?

Options:

frare fagra

91334567469,

wfaerrtt forgra
91394367470,

gure frgra

91334367471,

wauts fagia

B9133456747%2.

Question Number : 69 Question Id : 91394317175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The law declared by the Supreme Court is binding on all the courts within the territory of
India, but the Supreme Court is not bound by its own decisions, was decided by the
Supreme Court itself in :

Options:

91394267473, Keshavananda Bharati vs State of Kerala

Indira Nehru Gandhi vs Raj Narain
91394367474

91394367475, Madhav Rao Scindia vs Union of India

Bengal Immunity Co. Ltd. vs State of Bihar
91334267476,

Question Number : 69 Question Id : 91394317175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T =raTer gro Hifva fafe yra % vsuaa & e asft =marert o e gt @, g I=ew
TS A9 T & FofEl g arer 78 %, 9% =g I=aw e g fag are # fffa fear
oT, TR B :



Options:

I |G T e T4
91394367473,

= et == T AR
91394367474, e

91334567475, - ik

amre g &.fa. aam faer oS

B9133456747E.

Question Number : 70 Question Id : 91394317176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to which theory, only human beings can have interests and rights and that a
corporation is only a legal device or formula which will enable every complex jural relations

to be understood more easily ?

Options:

Fiction theory
91394367477,

Realist theory
291394267478,

Purpose theo
Q139426747 9. v

Bracket theory
91394367480

Question Number : 70 Question Id : 91394317176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fore firgia & srgam e s @ fea offt sifien wa awd § oft Frm e s el afs o
gt & fomdt e wfee faftmma devi i oft st s & e s @ 2

Options:

#ema fagra

1334567477,

| gerefard frgia

1234567478

wareE fagma

B1334567473.

Fisas firgia

91334567450,



Question Number : 71 Question Id : 91394317177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Privilege (i) Gives content to the claim of a person
(b) Duty (ii) Freedom from claim of another
(c) Power (iii) Have no correlative claim according to Austin
(d) Absolute Duty (iv) Ability of a person to change legal relations
Code:
Options:
(a)—(ii), (b)—(iii), (e)~(1), (d)—liv)
91594367451,
(a)ii), (b)), (e)—(iv), (d)iii)
91394367482,
(a)—iii), (b)—(ii), (e)—(i), (d)—liv)
291394267483,
(a)—i), (b)—(ii), (e)—(iii), (d)—iv)
91594367454,

Question Number : 71 Question Id : 91394317177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o1 gt 11t wgl & faram ifsr oit = feg o e 9 & ot 3wt =t 9fi

gt g I
(a) fomfosere () Foreft =afer & g ot fevgasg wem T &
(b) wdea (i) gER AT % g1 & Fdaal
(c) wfeh (i) e % TTHR i He Hagwdt grar Tl
& @
(d) 95 Hdeq (iv) fereft =afer 6t Hrft vl =t agem $ g
He :
Options:
(a)—(ii), (b)—iii), (e)~(1), (d)—iv)
91394367481
(a)—(ii), (b)—(1), (e){iv), (d)—(iii)
91394367482,
(a)—(iii), (b)—(ii), (e)—(1), (d)—(iv)
91394367483,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394367454,



Question Number : 72 Question Id : 91394317178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Austinian theory of law does not properly explain constitutional law,
customary law and judicial precedents.

HReason (R): Constitutional law, customary law and judicial precedents do not share the
same pedigree as statutory law.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394367455,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594287456

(A) is true, but (R) is falze.
Q13943267487

(A) is false, but (R) is true.
Q1=29432874R8,

Question Number : 72 Question Id : 91394317178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr= 31wy feu e 8, ford @ us e (A) @ 3 gEo 7% (R) B | Sl =i fen st = fag mo
Fe I TEM FHE I g |
stfirre (A) - Fifea & fafa faga & gaafss fafy, sfeama fafa i =nfies d-Fofai f agfaa

ST TE BTG R |
@6 (R):  waurtes fafa, sfewma fafa it =nfies od-Fofa sdt s =t amsn -8 +« & B
aifafes fafe amn w5t 2
Hhe:
Options:
91394367485, 0 3 (R) SF B & a1 (R), (A) 1wl =2 @ |
(A) 3R (R) 31 =&t €, 7= (R), (A) it ot =amen i & |
91394367486,
01394367487, ) 00 & T Ry E |
(A) Ted ®, 9g (R) 9&t 8 |

B91334567458.



Question Number : 73 Question Id : 91394317179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) ; Custom to have the force of law must be immemorial.

HReason (R): Custom represents common consciousness of the people.

Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
912394367489,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
912394367490,
(A) is true, but (R) is false.
Q1294287491
(A) is false, but (R) is true.
91394367492,

Question Number : 73 Question Id : 91394317179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= 3t @ fog e 8, T @ o atfirrem (A) R of qga 7% (R) | e =t wfen ofk e fog o
e AT FHE I g |

SfirsmeT (A) - v # wA i A 51 % forn suen Facredta gt sz & |

@ (R) : weT T R Bl Saen = et et @

C T
Options:

(A) 3T (R) 4T (R), (A) i T8t =T & |
91394367489, o & = b

(A) 3itt (R) 3T wdt &, 9t (R), (A) it wet samea 78 & |
91394367490

(A) T 2, 9 (R) Terd 2 |
91394367491

(A) T 8, Wg (R) @&t B |
Q1294267492

Question Number : 74 Question Id : 91394317180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is/are the chief exponents of the “Theory of Consent’ regarding the
basis of international law ?

Options:



Jellinck, Fenwick

91394367493,

J.L. Brierly, Kelsen
91394367494,

Anrzilotti, Triepel, Oppenheim
91394367495, pel, Wppe

Grotius, Vattel, Pufendorf
91294367496,

Question Number : 74 Question Id : 91394317180 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Freafefiaa & & = st fafa % gaw o “wenfa & faga’ % wa wfoes € 2

Options:

Afer=h, Hafa=
91394367493,

A, UA. $AE, FHedd
91394367494,
91394367495,

miferm, fada, wpbeerd
91394367496,

Question Number : 75 Question Id : 91394317181 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In the Asylum ease, the International Court of Justice observed that the rule
invoked should be “in accordance with a constant and uniform usage
practised by the States in question, and that this usage is the expression of
a right appertaining to the State granting asylum and a duty incumbent

on the Territorial State.

Reason (R): This follows from Article 38 of the Statute of the Court which refers to
international custom “as evidence of a general practice accepted as law”.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394367497,

Yes

Yes



Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594287498

(A) is true, but (R) is false.
Q13943267499

(A) is false, but (R) is true.
91334567500,

Question Number : 75 Question Id : 91394317181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A= 3 for e B, T & o arfirme (A) ® i g@n a6 (R) @ | el i afen sfi e few o
Fe I T4 F T I g |
T (A) : 1 916 & sF-airsdra =amarery 3 feopft & fon @ forn man Frem et osw g
arer it o W e o o aam g % e g =ifee oft g v o weE
F 9rer U9 8§ gafua saferen it wefies 159 % wden it afteaftn &

T (R) : g AT % FHF % weq 38 B I w1 8 A Fraursdra farst a fafy % w9 A
Ttehd 9 T % WIEG % &9 ° Ioord HAT & |
Hhe:
Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar g |
91394367497, T T e t

(A) 3ft (R) ST =@t €, T (R), (A) i Tt same 78 # |
91394367498,

(A) TE B, 7 (R) Terd & |
91394367499,

(A) T 8, 9O (R) &&l 2 |
91394367500,

Question Number : 76 Question Id : 91394317182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT

(Recognition given) (Dates of Recognition)
(a) India recognised China @ 15 April, 1975
(b) India recognised Spain (i) g December, 1971

(¢c) India recognised Cambodia (i) 3oth pepormher, 1949
(d) India recognised Bangladesh (iv) 211‘1 May, 1956
Code :

Options:



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91234267501,

(a)(iii), (b)—(iv), (e)-i), (d)—(ii)
91234267502,

(a)—(ii), (b)—(iii), (e)—iv), (d)—(i)
91334567503,

(a)—(iv), (b)—~(1), (e)—(ii), (d)—(iii)
91334267504,

Question Number : 76 Question Id : 91394317182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl 1 gt 11t wgl & fram Aiforg sit = feg e e 9 & ot 3w =t 9f

1 Tt I
(wr=re v 6 ) (v <6t fafer)

(a) WA A =4 Ft G=ad1 TgH H (i) 1%, 1975
(b) W& 3 T H JTFd1 ¥GH (i) 6 femmm, 1971
() WHA 3 Featfean ot o= wg= (i) 30 femean, 1949
(d) YT 3 FCATST AT §H 1 (iv) 2 78, 1956

He:
Options:

(a)—(i), (b)—{ii), (e)—(iii), (d)—(iv)
91334267501,

(a)(iii), (b)—(iv), (e)-i), (d)—(ii)
91234267502,

(a)—(ii), (b)—(iii), (e)—iv), (d)—(i)
91334567503,

(a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
91324267504,

Question Number : 77 Question Id : 91394317183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements is/are correct ?
(1) European Convention on Extradition was adopted at Paris on 138 December, 1964.

(ii) The practice of non-extradition for political crimes began with the French Revolution of
1789.

(i) op 160 June, 1987, the Foreign Secretaries of South Asia Regional countries entered
into an agreement on extradition.

(iv) Factor vs Laubenheimer iz a leading case on non-extradition of political erimes.

Choose the correct answer from the code given below :

Code :
Options:

Only (ii)
91394367505,

(ii) and (iii)
Q1294267506

(ii), (iii) and (iv)
2915334267507,

(i), (ii), (iii) and (iv)
91394367508,

Question Number : 77 Question Id : 91394317183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Prefefiga & & S-ava Fo aft 38 2
(i) werdor gadft qordte sfiem 6t 4fm d 13 Rt 1964 i wdiga T man

(i) Treftferes vt o g ar-sredor it we 1789 <t i swifT & A EF |
(iii) 16 5, 1987 #t feqor wfirn &efta e = wfuat 3 werdn dadt goushar fe |
(iv) Trriferen st & fou 1-werd & dag § Saet a9 St U THE 91 ¢ |
H= e m 52 4 & wd s W g

T
Options:

Fad (i)
91394267505,

(ii) ¥ (iid)
91394367506,

(i), (iii) 3 (iv)
Q194267507

(), (i), (iii) 3 (iv)
Q129426 7508,



Question Number : 78 Question Id : 91394317184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In accordance with which of the following Articles of U.N. Charter, the affirmative vote of
nine (9) members of the Security-Council (including the permanent members) is necessary
for all important matters ?

Options:

91394367509, | rice 20
91394367510, oe 4
91394367511, ol
91394367512, o2

Question Number : 78 Question Id : 91394317184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

7.0, 9 % Freaferfiaa 3 @ form srg=ae % srgam avht wewepl ama  fore guan oftsg %t (9)
geegl (vt gecal afgd) 1 GFReTE Ua HEEF 8 7

Options:

Ff=eg 25
91394367509

FTeeq 43
91394367510.

Fg=eg 51
91394367511

FTeeq 27
91394367512,

Question Number : 79 Question Id : 91394317185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(Provision) (Article)

(a) Composition of the Economic (i) Article 75 of the U.N. Charter
and Social Couneil

(b) Composition of Trusteeship Council (ii) Article 6 of the UN. Charter

(¢) Expulsion of a member from the (iii) Article 5 of the U.N. Charter
United Nations

(d) Suspension of members of the (iv) Article 61 of the U.N. Charter
United Nations

Code:
Options:

(a)—(iv), (b)), (e)—(ii), (d)—(iii)
91394367513,

(a)—(i), (b)—(ii), (e)—(iii), (d)—liv)
91394367514,

(a)—iii), (b)~iv), (e)-(i), (d)—(ii)
91394367515,

(a)—iv), (b)(iii), (e)-(ii), (d)—(i)
913394367516,

Question Number : 79 Question Id : 91394317185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o gt 11t wgl & farama Aifsrg ait = feg e e 9 & ot 3w =6t 9fiw

et I 1T

(srre) (ar7787)
(a) It it arfos afeg 1 M@ () WA, I H IS 75
(b) =areft wfiwg 1 e (ii) F.UH. I H HIo0S 6

(c) Tgw g & Foreft eem =1 fsshraa (i) 9,04, =18 1 A= 5
(d) T g & HgEl 1 Fewaa (iv) 3, UH. = 1 F=eg 61

B
Options:

(a)—(iv), (b)), (e)—(ii), (d)—(iii)
91394367513,

(a)—(i), (b)—(ii), (e)—(iii), (d)—liv)
91394367514,

(a)—iii), (b)~iv), (e)-(i), (d)—(ii)
91394367515,



(a)—{iv), (b)—(iii), (e)—(id), (d)~1)
91394367516,

Question Number : 80 Question Id : 91394317186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Consider the following statements :

Under Article 36 (2) of the Statute of International Court, the State party to the statute
may confer ‘compulsory jurisdiction’ upon the International Court of Justice in respect of
the following matter(s) :

(i) Interpretation of a Treaty
(ii) Any question of national law

(iii) The existence of any fact which, if established, would constitute a breach of
international obligations

(iv) The nature and the extent of the separation to be made for the breach of a domestic
obligation
Choose the correct answer from the code given below :
Code :
Options:
Only (i)
Q1394267517

9139436751, () and (i)

(1), (iD) and (iv)
91334567519,

(i), (ii), (iii) and (iv)
91334367520,

Question Number : 80 Question Id : 91394317186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefaa syt w famm ifs

FAUE AT & FIT  HJoog 36 (2) F F=atd H F vewr U1 Fefafias amet % dag
1 araisdt e+t rfvard emfien vgm o

(i) fereft mfFer <t s

(i) Tt fafer = g v

(iii) Foreft oft aem 1 aafeerem, it =fg worfie &t Sie, o= T8 sraisda gifat it o A Sem
(iv) =e] gl & ¥ €14 & Hag | fohe o ara favmem & wsfa oif faeam

fr= few me 52 4 | ot I+ g

C T

Options:



Fa (i)

91394367517,

(i) ¥ (i)
91394367518,

(1), (i) 31 (iv)
91394367519,

(i), (iD), (iii) =M (iv)
91394367520,

Question Number : 81 Question Id : 91394317187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The ‘Doctrine of Forum Prorogatum’, states the court will have jurisdiction in
a matter in which it does not otherwise have jurisdiction where a
respondent consents to the jurisdiction subsequent to the commencement
of proceedings against it.

Reason (R): The operation of the ‘Doctrine of Forum Prorogatum’ has been envisaged
under the Charter of the U.N. and also the Statute of the International

Court of Justice.
Code:
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
21394267521,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
915394367522,
(A) is true, but (R) is false.
91394367523,
(A) is false, but (R) is true.
913942367524,

Question Number : 81 Question Id : 91394317187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



fr= 31wy feu e 8, ford @ us e (A) @ 3 gEo 7% (R) B | Sl =i fen st = fag mo

e FE F=ad I g |

HHIT (A) : i waraa™ = Rigia’ § Ieorg 2 Fr =marem 61 anferetoa W& wwe § anft Rt
o T A= Afeefrar 98 2 9= ufeardt s favg Frfardt oy fee 9= %
gy Al & T894 & |

T ((R):  ‘w waraEE g % e § o B weea 94w UsEy % 9 siatd
T3 & aftt wry f sariefg e B afafy § ot g s B

% :

Options:

(A) 3 (R) 9T (R), (A) 1 Tt =arean # |
91394367521, = § w &

(A) 3R (R) 31 &t €, WG (R), (A) < Tt =amen 3 & |
91394367522

(A) TEt B, (R) Tefd & |
91394367523, A

(A) T ®, 9 (R) @&t 8 |
Q13294267524

Question Number : 82 Question Id : 91394317188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Under which of the following Articles of the United Nations, the General Assembly may
establish such subsidiary organs as it deems necessary for the performance of its functions ?

Options:

91394367505, rtide 21

91394367506, L riicle 20

91394367507 lrtice 23

9139436750y, Lrtice 22

Question Number : 82 Question Id : 91394317188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gy g % Frefefiaa o & fee sig=e % smarla s gt s vl & Freargs & foe U@ geres
37 Tfie o ehdl & 9 98 AHTEvES g9y 7

Options:

e 21

91334567525,



Fg=aE 20

91334567526,

FI=oq 23

153394267527,

Fg=eg 22

B1334567528.

Question Number : 83 Question Id : 91394317189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who amongst the following groups of jurists are the chief exponents of the ‘Declaratory
Theory’ of Recognition ?

Options:

Hall, Brierley, Fisher and Pitt Corbett
1594287529,

Hegel, Anzilotti and Oppenheim
Q15294267550 8 ppe

Hart, Austin and Bentham
91294367521,

Fenwick, Kelsen, Fuller and G. Schwarzenberger
91394367532,

Question Number : 83 Question Id : 91394317189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafaa & & s fafiemsd & o o * g fage * yge wfoogs § 2

Options:

aie, forafdd, e ofit fre =iae
91394367529,

&, Tefteiet i e
91394367530,

&1e, aifee iR dom
91394367531,

wfmaeh, Fead it oft, vars=iL
91394367532, ’ » FTH '

Question Number : 84 Question Id : 91394317190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Under the Hindu Marriage Act, 1955, sapinda relationship with reference to any person
extends as far as

Options:

The third generation (exclusive) in the line of ascent through the mother and the fifth

(exclusive) in the line of ascent through the father.
21394267533,

The third generation (inclusive) in the line of ascent through the mother and the fifth

(inclusive) in the line of ascent through the father.
291394267534,

The fifth generation (inclusive) in the line of ascent through the mother and the third

(inclusive) in the line of ascent through the father.
291394267535,

The fifth generation (exclusive) in the line of ascent through the mother and the third

(exclusive) in the line of ascent through the father.
21394267536,

Question Number : 84 Question Id : 91394317190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

famg faame srfufrm, 1955 % siafa fodt safw & v # afive dag # fawm 2
Options:

qret & aesen § el Gt (srvafira) o offt faen & dwsen o it Gt (sroafre) o
91394367533,

qre & qysRg ° et G (Tarefie) 9% ot fiar - g o giwd d (guefiE) 99 )
91394367534,

qre & desen § aiwdt fiFt (wurafi) g% o e & S § ded e (Tmefia) 96 )
91394387535,

qre & dysRg ° gigdt figt (svafan) o o fim < S § il ddt (svafem) 9 )
91394367536,

Question Number : 85 Question Id : 91394317191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Islamic law in India provides for :
Options:
onogam
91394367537, ogamy

Unlimited polygam
Q13943267538 polygamy

Controlled polyan
Q1=294267529, POy d.rjf



Controlled polygam
91294267540, polygamy

Question Number : 85 Question Id : 91394317191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
rd o geerfyes faftr awefia st 2 -
Options:

B91334567537.

Feifia agacitea

91334567538,

frifia Tgafee

B1334567530

fFrafia sguefa

91334567540

Question Number : 86 Question Id : 91394317192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Matech the items of List [ with the items of List I1 and choose the correct answer from the
code given below.

List I List I1
(a) Smriti (i) What was heard
(b) Mitakshara (ii) Jimutavahana
(¢} Shruti (iii) Vijnaneshwara
(d) Dayabhaga (iv) What has been remembered
Code:
Options:
(aliv), (b)—(1ii), (e)-1), (d)—(ii)
91394367541,
(a)iv), (b)), (e)iii), (d)—1)
91394367542,
(a)-(iii), (b)—(iv), (e)—(ii), (d)—(i)
91394367543
(a)—1), (b)—(ii), (e)—(iv), (d)—(iii)
91394367544,

Question Number : 86 Question Id : 91394317192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl o1 gt 11t wgl & faram ifsr oit = feg o e 9 & ot 3wt =t 9fi

1 Tt I
(a) Tyfa (i) S g
(b) Frmem (ii) SiraaTe
(c) Zf (iii) fersmreat
(d) gravm (iv) St T fpam e
He:
Options:
(a)—(iv), (b)—(iil), (e)—(i), (d)—(ii)
91394367541,
(a)—(iv), (b)~(ii), (e)—(iii), (d)—(1)
91394367542,
(a)ii), (b)~(iv), (e)—(ii), (d)—(i)
91394367543
(a)—(i), (b)—(ii), (e)—(iv), (d)—iii)
91394367544,

Question Number : 87 Question Id : 91394317193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List IT and choose the correct answer under the
Hindu Marriage Act, 1955 by using the code given below.

List I List IT
(Section) (Provision)
(a) Section 5(i) (i) Ceremonies of marriage
(b) Section 11 (ii) Monogamy
(¢) Section 7 (iii) Marriageable age
(d) Section 5(iii) (iv) Void Marriages
Code:
Options:
(a)—(ii), (b)—(i), (e)-(iii), (d)—(iv)
291394267545,
(a)(ii), (b)—(iv), (e)~(i), (d)—(iii)
21394267546,
(a)—(iii), (b)—(iv), (e)—(i), (d)—(ii)
91394367547,
(a)—(iii), (b)—(ii), (e)iv), (d)—(D)
91394367548,

Question Number : 87 Question Id : 91394317193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ot 1 w5l 1 g 11 e @ frem ifsi ot A= feg o e & i s g feeg faeme

wifufam, 1955 % stia &t 3w =t 9fi |
I Bl
(wm) (3ier)

(a) 9T 5(i) (i) forarg =+

(b) €T 11 (i) T

(c) 9T 7 (iii) ferare A= =g

(d) | 5(ii) (iv) ¥4 faamg

+e:

Options:

91334567545,

B1334567546.

21594267547,

91334567548,

Question Number :

(a)—(ii), (h)—(1), (e)(iii), (d)—iv)

(a)—(ii), (b)—{iv), (e)—(i), (d)—iii)

(a)—(iii), (b)—~(iv), (e)-(i), (d)—(ii)

(a)—(iii), (b)(ii), (e)—(iv), (d)—(i)

88 Question Id : 91394317194 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asszertion (A) :

Reaszson (R) :

Code :

Options:

91334567549,

91334567550,

91334567551,

91334567552,

A child adopted under the Hindu Adoptions and Maintenance Act, 1956
shall be deemed to be the child of his or her father or mother for all
purposes with effect from the date of adoption.

A validly adopted child may renounce his or her status as such after
attaining the age of 21 years and return to his’her family of birth.

(A) is correct and (R) is true explanation of (A).

(A) is falze, but (R) is correct.

(A) is correct, but (R) is false.

Both (A) and (R) are incorrect.

Yes



Question Number : 88 Question Id : 91394317194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= 3 A fe e B, i & o arfirme (A) B 3 g@0 96 (R) 8 | Sl i afen sfi e few o

e *1 FE F T I g |

stfira (A) - Tomg gamem ofR yoor-atww sifufram, 1956 % starta goe foran man farg oo wewr
1 arite & ot wate % fore aweh fran = wren w61 s=n A S |

% (R) : faftrr=a =9 @ goe forn man = 21 9d i oy ot 9 W A W G H AW
Tehe1 B 3 39 S % ufEn | wte gwar @ |

®e:
Options:

(A) T (R), (A) &t 98t samean & |
91394367549, wa e = b

(A) T 8, Wg (R) @&t B |
Q1294267550

(A) T 2, 7 (R) Teid 2 |
91394367551,

(A) 3R (R Teld & |
91394367552, } )3 g

Question Number : 89 Question Id : 91394317195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Marriage during ‘Iddat’ under Sunni law is :

Options:

91334567553, Valid

91394367554, YoM

91394367555, " oidable

Irregular
21594267556,

Question Number : 89 Question Id : 91394317195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt faf = srfa sea’ = <hom faame g 2

Options:

faftrmm=a

2153394267555,



91334567554, =

bIGETUIE]

91334567555,

2153394267556,

Question Number : 90 Question Id : 91394317196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
An agreement made by mistake is
Options:

91394367557, ' odable

91394387555, ' od

Illegal
91394367559,

91394387560, L mmoral

Question Number : 90 Question Id : 91394317196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e & ffam e

Options:

AT B R |

91334567557,

YA EAR

91334567558,

Hag BT R |

B1334567559.

Ffern |
91394367560, g &

Question Number : 91 Question Id : 91394317197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mark the correct statement :

Options:



91334567561,

B133456756%,

91334567563,

B1334567564.

Under the Hindu Marriage Act, 1955, the husband can claim maintenance.

Unchaste wife can live separate and claim maintenance under the Hindu Adoptions and
Maintenance Act, 1956.

Under the Hindu Adoptions and Maintenance Act, 1956, father-in-law is personally liable
to pay maintenance to the widowed daughter-in-law.

The term ‘maintenance’ under the Hindu Adoptions and Maintenance Act, 1956 does not
include marriage expenses of unmarried daughter.

Question Number : 91 Question Id : 91394317197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

@Wﬁﬁm‘m

Options:

B1334567561.

21594267562,

2153394267563,

91334567564,

famg faame sfafiem, 1955 % s=mfa ofa woor-dhen =1 gran ¢ gt 2 |

viterwse geft 37en T8 TRl 2 AR fag g it woordiewr sfafoem, 1956 % srwafa woor-diewr &1
el H a2 |

famg gaeh it woodrnr sfufem, 1966 % srarfa agt =afwra &9 @ favar gaay #it wor-dmo 33
 fere gt 2

famg ok it wooarer srfafem, 1966 % srafa “woodmer g § srfaarfza ot = faame ==
e T @

Question Number : 92 Question Id : 91394317198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which case the Supreme Court held that the State should enact the Uniform Civil Code
for people of India ?

Options:

91334567565,

91334567566,

B1334567567.

Chetan Dass vs Kamala Devi

Saroj Rani vs Sudarshan Kumar

Ashok Hurra vs Rupa



91294367568, John Vallamatton vs Union of India

Question Number : 92 Question Id : 91394317198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F=dH AATed A 6 g 4 98 sifufauifa e fe osa =6t ymm s < & foe o 9o amfs |
fean arfufafia woht =i 2

Options:

I E1E F=H FHel
91394367565, ™ il

Firs Tt T et FaR
91394367566,

Fvis g o= w9
91394367567,

4 TS F4H WG 99
91394367568,

Question Number : 93 Question Id : 91394317199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The communication of a proposal iz complete when it comes to the knowledge
of the person to whom it is made.

Reason (R) : Section 4 of the Indian Contract Act, 1872 deals with the issue of
completeness of communiecation.

Code :
Options:
Both (A) and (R) are correct, but (R) iz not related to (A).
913942367569,
(A) is correct, but (R) is false.
Q1294367570
(R) is correct, but (A) is false.
913942367571,
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394367572,

Question Number : 93 Question Id : 91394317199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fr= gt wue fog e 8, T @ arfirrem (A) @ o g 9% (R) @ 1 el =t afge ik e feg e
Fe I TEM FHE I g |
mw:mmﬂwwmm%mﬁmwﬁﬁﬁmﬁmmﬁQﬁﬁ
|
% (R) : yreta wfeer sfufem, 1872 &t a4 %1 gag guan 6t gofa deadt s a2
e
Options:

(A) 3R (R) 3T &t &, 9q (R), (A) & waiftra 7 2 |
91394367569,

(A) F# B, 9 (R) Terd & |
9139436 7570.

(R) &t &, (A) Ted & 1
Q1394267571 m

(A) # (R) (R, (A) 6 ot sgTET § |
9139436757 2. T e t

Question Number : 94 Question Id : 91394317200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Matech the items of List I with the items of List I1 and choose the correct answer from the
code given below.

List I List 1T
(Section of Indian Contract (Definition)
Act 1872)
(a) Section 2(f) (i) Proposal
(b) Section 2(e) (ii) Promisor and Promisee
(e) Section 2(a) (iii) Reciprocal Promises
(d) Section 2(c) (iv) Agreement
Code:
Options:

(a)—(D), (b)(iii), (e)-(ii), (d)—iv)
91394367573,

(a)—(iii), (b)(iv), (e)(ii), (d)—(i)
9139436757 4.

(a)iii), (b)—(iv), (e)i), (d)—(ii)
91394367575,

(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)
91394367576,

Question Number : 94 Question Id : 91394317200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl o1 gt 11t wgl & faram ifsr oit = feg o e 9 & ot 3wt =t 9fi

1 Lipll
(v | srfafam, (uframa)
1872 ht &)
(a) ¥R 2(f) (i) s
(b) T 2(e) (i) FaEral o T
(c) 9HT 2(a) (iii) =aferaprt o=
(d) 9T 2(c) (iv) &L
He :
Options:

(a)—(i), (b)—(iii), (e)—(ii), (d)—iv)
9139436757 3.

(a)(iii), (b)(iv), (e)(ii), (d)—(i)
9139436757 4.

(a)iii), (b)—(iv), (e)(i), (d)—(ii)
91394367575,

(a)—(iv), (b)—(ii), (e)-(iii), (d)—(i)
91394367576,

Question Number : 95 Question Id : 91394317201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements are correct ?

(i) A minor fraudulently misrepresenting his age is not
estopped from denying the truth of his statement.

(ii) A minor fraudulently misrepresenting his age is estopped
from denying the truth of his statement.

(iii) Estoppel does not operate to render a statute ineffective and
50 minor’s agreement is always void.

Choose the correct answer from the code given below :

Code :
Options:
(ii) and (iii)

91334567577,

B133456757E. (i) and (il

91394367579, 0 and )

(1), (i) and (iii)
B12334567580.



Question Number : 95 Question Id : 91394317201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefafigs # @ sd s adt 2 7

(i) 3Tt 3 I FIEPT F9 @ GeATGIIG Hd dTel HGAEH i 37
w9 i gegal F w8 faafaa @ e w2

(i) #FH 39 Hi Frepl ¥ & ARG FE AT HaTTE H AH
w9 I Tear w w8 fafia fon sman @

(iii) foray fomeft s =t mmadls 0 % for wafda =& gt @ aflt
gafere staaeh 1 FR T0M T 7 |
fr= R g2 § @ Wt I H g

®e:
Options:

(ii) 31 (iii)
91394367577,

(i) 3 (iid)
QA1E94=267FE7E,

(i) 3t (ii)
Q1394267579

(1), (i) 31 (iid)
91394367580,

Question Number : 96 Question Id : 91394317202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A master asks his servant to sell his cycle to him at less than the market price. This contract
can be avoided by the servant on the ground of

Options:

91394367551, Coereion

91394367550, rraud

9139435 7553, Undue influence

Mizrepresentation
913943675584,

Question Number : 96 Question Id : 91394317202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ue mifers 319 et @ Iuht arsfea s qeg @ w0 W I (wfes =) fawe w0 % g wam 2
ARt gr0 34 dfagr it o smum @S e o g 8, 98 @
Options:

Pl
91394367581,

B1334567582,

91334567583,

R

91334567584,

Question Number : 97 Question Id : 91394317203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Won est factum’ means, a document executed
Options:

9139456 7SS, Under coercion

In ignorance
91334367586,

913943675gy, Outside India

91394367588, Under undue influence

Question Number : 97 Question Id : 91394317203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Tt qea 1 Afarg 1 arerd @, o e At Frearfea fean mn E
Options:
91394367585, g % S

syt
Q1394267 586.

WA
91394367587, hlls

sfea wamE % afl
91394367588,



Question Number : 98 Question Id : 91394317204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hadley vz Baxendale is a leading case on :

Options:

Minor's agreement
91324567559,

Anticipatory breach
913294367590,

Breach of implied term
91334367531,

Remoteness of damages
91324567532,

Question Number : 98 Question Id : 91394317204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

#5dl T FFHS 1 YHE 915 e 8 Hefa 8

Options:
91394367589, & 1 HH
91394367590, oA A

A-afifea Tl S W F=A
91394367591,

THET h et
91394367592

Question Number : 99 Question Id : 91394317205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is/are exception(s) to the rule of strict liability recognized by
Rylands vs Fletcher 7

(i) Defendant’s default

(ii) Act of God

(iii) Consent of the third party

(iv) Statutory authority

Choose the correct answer from the code given below :
Code :

Options:



(i) and (ii) are correct
G]1394267593,

(iii) and (iv) are correct
Q1394267594

(i) and (iii) are correct
91394267595,

(ii) and (iv) are correct
Q1394267596

Question Number : 99 Question Id : 91394317205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ugeten =W Feret gRI "T-gal ug foru e %2 gifiea & Frem % swarg Fefafaa d @ wa g 2
(i) wfoars) 6t g%

(i) §7 H FA

(iii) et ver <t wewfa

(iv) Tt wrferrdt

Hre feu T e & | W I H g

He:
Options:

(i) 31 (id
91394367593, } w8

(iii) 3 (iv
91394367594, } )78

(i) 31T Ciii
91394367595, } ) w8 8

(ii) 3 G
91394367596, D V) whe

Question Number : 100 Question Id : 91394317206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Matech the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Ex turpi causa non oritur (i) Immediate cause

(b) de minimis non curat lex (i) From an immoral cause no action arises

(¢) Causa causans (iii) From day to day
(d) de die in diem (iv) Law does not concern itself with trifles
Code :

Options:



(a)—iil), (b)~id), (e)—(iv), (d)~1)
91334367537,

(a)—ii), (b)—(iv), (e)—(i), (d)iii)
91234267538,

(a)—i), (b)—(ii), (e)—~(iv), (d)—(iii)
91334567599,

(a)—(iv), (b)—~(1), (e)—(iii), (d)—(ii)
91334367600,

Question Number : 100 Question Id : 91394317206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl 1 gt 11t wgl & fram Aiforg sit = feg e e 9 & ot 3w =t 9f
g I T I

(a) wFg 0t #tan 94 SfgE () darenfas S

(b) & fuffira =t aqure d9w (i) ot arifores oo & 8 %l 3o 71 & @

(c) Wram Hrg (i) 3fe

(d) f& a3 7 feum (iv) fafer & B1d-aidt ard defea 78 &t 8

B
Options:

(a)—iii), (b)~(id), (e)—liv), (d)~(D)
913234267537,

(a)ii), (b)—(iv), (e)—(i), (d)iii)
91234267538,

(a)—(i), (b)ii), (e)—(iv), (d)(iii)
91234267539,

(a)—iv), (b)—(i), (e)(iii), (d)—(ii)
B1334567600,

Question Number : 101 Question Id : 91394317207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who is the propounder of ‘Pigeon Hole’ theory ?
Options:
1394367601, vinfield

91394367602, Saimend

91394367603, Loleck



91394387604, 1 TA%eT

Question Number : 101 Question Id : 91394317207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘o B fuga 1 sfaaes # 2 2
Options:
91294367601 bles
91394367602, T
91394367603, it
91294367604, S

Question Number : 102 Question Id : 91394317208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I (name of case) with the items of List 11 (related topic) and choose
the correct answer from the code given below.

List I List IT
(Name of case) (Related topic)
(a) Jones vs Boyee (i) Remoteness of damages
(b) Scott ve Shepherd (ii) Medical negligence
(e) A.H. Khodwa vs State of Maharashtra (iii) Nervous shock
(d) Victorian Railway Commissioner vs Coultas (iv) Doctrine of alternative danger
Code:
Options:
(a)—iii), (b)—(iv), (e)-(ii), (d)—(1)
91394367605,
(a)—(ii), (b)—(1), (e)—(iii), (d)—(iv)
91394367606,
(a)-iv), (b)), (e)-ii), (d)—1ii)
91394367607,
(a)iv), (b)), (e)-1), (d)—1ii)
91394367608,

Question Number : 102 Question Id : 91394317208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



qeft 1 (geed o1 ) i 72l 1 g 1 (et fowa) i 05l @ e A s iR R s 4 @
Hat I w g |

qe I I

(FeheA ™) (weifira o)
(a) S8 =W 14" () efer i greaa
(b) Tehie =T $9 (i) Fafredta moard

(¢) .U, Gredl S99 HEHIeg U9 (iii) e FiH
(d) fawetfem toa s o™ Seem  (iv) 6 Tat = faga

R
Options:

(a)(iii), (b)(iv), (e)(ii), (d)—(i)
91394367605,

(a)(ii), (b)—(1), (e)-Liid), (d)-iv)
91594267606,

(a)—(iv), (b)), (e)—(ii), (d)—(iii)
91394367607,

(a)—(iv), (b)(ii), (e)—(i), (d)iii)
91394367608,

Question Number : 103 Question Id : 91394317209 Question Type: MCQ Option Shuffling: Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Aszsertion (A) : “Act of God’ is a kind of evitable accident with the difference that it arises out
of the working of human forees.

Reason (R): The occurrence need not be unique, nor need it be one that happens for the
first time; it is enough that it is extraordinary, and such as could not
reasonably be anticipated.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394367609

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q15943267 E10,

(A) is true, but (R) is false.
91334567611,

(A) is false, but (R) is true.
Q1294367612

:Yes



Question Number : 103 Question Id : 91394317209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fr &t o fo o &, o & o i (A) B i@ 7% (R) 8 1 el i afen ot e fig o
e *1 FE F T I g |
Ffiee (A) : $Tatta Fcd T FHR At qierd g ardt 2 foredt oiaw 77 gt @ fo aw wete i
% % & Jeud gt B

ah(R):  dr el e & Fh e aifgdia @, 3 @ 98 9wh 2 6 9g veeht an ufea & & @
wafed & o @rg sramamon gt siit 7z Ut we g 6 soeh e # aehand w9 qaigae
T AT S = |
% :
Options:

(A) #(R) 9T (R), (A) 1 Tt =g & |
91394367609, = w &

(A) 3 (R) 31 @t €, oo (R), (A) 1 ot s T R |
1294367610,

(A) Tt B, (R) Tefd & |
91394367611, A

(A) Ted ®, 9g (R) 9&t 8 |
Q1394267612

Question Number : 104 Question Id : 91394317210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In the matters of absolute privilege, no action lies for the defamatory
statement even though the statement is false or has been made
maliciously.

HReason (R): Whether a statement is defamatory or not depends upon how the right
thinking members of the society are likely to take it.

Code :
Options:

Both (A) and (R) are true but (R) is not correct explanation of (A).
1594367613

Both (A) and (R) are true, and (R) is the correct explanation of (A).
Q1594267614

(A) is true, but (R) is false.
Q1394367515

(A) is false, but (R) is true.
Q1E943E7E1E,



Question Number : 104 Question Id : 91394317210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fr &t o fo o &, o & o i (A) B i@ 7% (R) 8 1 el i afen ot e fig o

e *1 FE F T I g |

fiepe (A) - 3t fagrofirn & amet § amerfens s % fou w Fiarg 7 £ ot va @
a8 ®Y e gt 3 fagmgel & |

7% (R) : HE FUH qHEEHRS & 91 781 39 919 W Frft wan 2 f6 9w & @@ 99 9 st
g0 39 form w0 o o fr avrE B

®e:
Options:

(A) 3 (R) g1 &t &, =g (R), (A) it Tt s 78 2 |
91394367613,

(A) 3 (R) 9T (R), (A) 1 Tt =arean # |
91394367614, = § w &

(A) T& &, Td (R) Terd & |
91394367615.

(A) T 8, WG (R) &8t 2 |
91394367616,

Question Number : 105 Question Id : 91394317211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the the following Supreme Court decisions on the justification of torts in
chronological order by using the codes given below :

(i) Vinod Kumar Shantilal Gosalia vs Ganagadhar Narsingdas
(ii) Sodan Singh vs New Delhi Municipal Committee
(iii) Anwar Hussain vs Ajoy Kumar

(iv) Nizam's Institute of Medical Sciences vs Prasanth 8. Dhananka

Code :
Options:

(1), (i), (iv), (11)
91534267617,

(ii), (iv), (i), (iid)
B12334567615.

(iii), (i), (ii), (iv)
91334567619,

(11i), (ii), (iv), (1)
B1334567620.



Question Number : 105 Question Id : 91394317211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frr few o gt 1 v HW et % it W Iwan e % ol S Sesm § e
srafee $ifiw

(i) forre Fam wifereme mrenfern s T wfega

(i) #re g s =g feght sfafoe wadt

(idi) 3R gH TAH T FAN

(iv) From Setee =% Afeswha GEes o™ vTd w@. 9H=H

Hhe:

Options:

(1), (111), (iv), (id)
21394267617,

(i1, (iw), (1), (iii)
91594367618,

(i), (1), (i), (iv)
91394367619,

(1ii), (ii), (iv), (1)
21394267620,

Question Number : 106 Question Id : 91394317212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements are correct in relation to ‘administrative control’ of forums
and commission under Section 24 — B of the ConsumerProtection Act, 1986 7

(i) National Commission shall have administrative control over all State Commissions.

(ii) National Commission shall eall for the periodical return of ‘pendency of cases’ before the
State Commissions.

(iii) State Commission shall have administrative control over all district forums.

(iv) State Commission can issue instructions to district forums to furnish English translation
of judgements written in any language.

Choose the correct answer from the code given below :

Code :
Options:
(i) and (iii) are correct
Q12943267621
(ii) and (iv) are correct
Q1594287622

(1), (ii) and (iii) are correct
Q1394367623



(1), (ii), (iii) and (iv) are correct
13943267624,

Question Number : 106 Question Id : 91394317212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

vt geerw wAfufam, 1986 &t U1 24 — B o fatd SE S 3 & venmafe FEeor & gay
dfeffan da a8 sua adt £ 7

(i) ot et % sl o sdta s s wematae o g

(i) el s, T ST 6 W ‘Heagn! o wifear & Hay § swafus faawn 3 % fore g
(iii) Tr=g FrE = gt fren it v ysmafaes feso g

(iv) T s, feet oft wror & fera v Fofat 1 aTsht srgame Iueren sam & o fen vt =t
FACT A TR B

3 R o g § @ W IR IR
e

Options:

91394367621 R (i) T

91394367602 OV R (iv) T §

(1), (i) 31 (iii)
Q1E94Z67FE2E, Hﬁﬁ

(), (id), (iii) 3 (iv)
Q1294267624 vl o H‘a"lﬁ

Question Number : 107 Question Id : 91394317213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is correctly matched in relation to ‘period of limitation’ to file a
complaint or an appeal before the Consumer Forum/Commission under the Consumer
Protection Act, 1986 ?

Options:

Complaint — one year
91394267625,

Appeal from District forum to State Commission — 30 days
91394367626,

Appeal from State Commission to National Commission — 60 days
91394367627,

Appeal from National Commission to the Supreme Court — 90 days
215394267625,



Question Number : 107 Question Id : 91394317213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fuvtehr weEor wfufam, 1986 % Hara Iuvied BIA/AEN % Tae gfEre a1 Adte g w9 & fou
‘it sraf’ & g # fefefiga @ & F9-91 @@ @0 & gifea fem g 2

Options:

afarg — o
91394387625, R

e @ 9 T=9 s %t widfte - 30 fem
91394367626,

91394367627, T A T A afie - 60 &

edta ST & Iwan ~ETed w6 adte — 90 fm
91394367628,

Question Number : 108 Question Id : 91394317214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following defined crime as “an act committed or omitted in violation of a
public law either forbidding or commanding it” ?

Options:

91394367609, Hussel

Kenny
91394367630,

91394367631, Dlackstone

J.F. Stephen
91394267632,

Question Number : 108 Question Id : 91394317214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa 4 @ feaa souy it “Uon wen T Prvareass 1 saenss w9 @ ardats fafy & e &
foran & o =l fomen & % v H afonfye fem 2 2

Options:

21594267629,

B1334Z67630. =l



2153942676351,

ER T
91394367632,

Question Number : 109 Question Id : 91394317215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Under which of the following situations would Indian Courts have jurisdiction ?
(i) Crime committed by an Indian in a foreign country.
(ii) Crime committed by a foreigner in India.
(iii) Crime committed by a person on an Indian ship.

Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii)
915924367633

Only (1) and (iii)
Q1394367634

Only (ii) and (iii)
91294367635,

All (1), (ii) and (iii)
91594367636,

Question Number : 109 Question Id : 91394317215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frafafiaa o afifeufogt & ydte =mnest &0 denfisr g@m 2
(i) Feem o vt gro fobe o aroe |
(i) wra # fagh gro fore o sy |
(iii) Wit srEre W fReht safen g fope e sqaa

e few e g # & W@ W H g
% :
Options:
e (1) 3 (i)
Q1294367 ERE,
hae (i) 37 (i)

B12334567634.



e (i) 31 (i)
91394367635,

a¥ft (i), (i) 3 (i)
91394367636,

Question Number : 110 Question Id : 91394317216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘A’, a woman knowing that his husband ‘B’ has recently committed dacoity, harbours him
with the intention of screening him from punishment. In this case ‘A’ is:

Options:

uilty for harbouring onl
A1 29426 7E3T. guity g v

uilty for screening onl
13942676538, guitty 8 v

uilty for harbouring as well as screenin
Q1394367539 guilty 8 8

not guil
A1=294267E40, gurty

Question Number : 110 Question Id : 91394317216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘0’ eft wien &, it S g foR 3k ofe S ore A <A F R, s oft B e d R Hrom @
AMHI TR | A ° 0

Options:

91334567637, A 36 A <A % o v 2

B133456763E. A foH % fore vt &

s1394367630, T o1 oM 1T A 3 ferg vl &

91234567640, SARLE

Question Number : 111 Question Id : 91394317217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘A’ enters into the house of ‘B’ with the intention to commit theft. ‘B’ along with other
members of his family surround and attack ‘A’ with wooden sticks. ‘A’ finding his life in
danger fires with pistol causing death to ‘B’
Here ‘A’ has committed :

Options:

No offenice, as he acted in self-defence
Q1E94367FE4]

91394367642 Lneft

Culpable homicide not amounting to murder
91394367643,

91394367644 Murder

Question Number : 111 Question Id : 91394317217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

@ =t we B om E A % w A gaa ) s afEn % o weet % Ay 0 w6t e et %
€2/ THA F0 & | A T i Hehe | @ U furea & melt Saran @ fwd WY i bt g et
RI%E TA:

Options:

Ft¢ gy 78 forn 2, <Ifte 399 atremen % fore ol foem 2
A1=294267641 .

=t & 2
1394367642,

wed1 1 i d 7 1F Fren i g 99 fn g
913943687643,

£l
91394367644, ?

Question Number : 112 Question Id : 91394317218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A, a police officer, tortures B to induce him to point out where certain stolen property is
deposited. Here A is guilty of an offence under
Options:

Section 330, 1.P.C.
Q1594287645

Section 331, 1.P.C.
Q1294367 E4E,



Section 332, 1.P.C.
Q1594287647

Section 333, 1.P.C.
Q1594367648

Question Number : 112 Question 1d : 91394317218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

weh gferm srfserdt @, ‘S it 77 Fam % fow aman 4 @ f6 3w = 6 g wofs = oo
2 1 7g ‘@ o g % et s w1 Grd R, 9w @

Options:

T 330, WidE g dfgan
91394367645,

YT 331, Wt <2 gfEa
91394367646,

YT 332, Wt <8 i
91394367647,

T 333, Wit <2 qfea
91394367648,

Question Number : 113 Question Id : 91394317219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“The right of private defence of body commences as soon as a reasonable apprehension of

danger to the body arises and continues as long as such apprehension continues.” This
observation was made by the Supreme Court in :

Options:

91594367649, Deo Narain vs State of U.P.

Ram Swaroop vs State of U.P.
91334267650,

Ranga Billa vs Union of India
91394367651,

State of Punjab vs Nanak Chand
21394267652,

Question Number : 113 Question Id : 91394317219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘st & sl dadt wifiam i i e0w Bt 8, odife sl it aemen 1 stfusmn iy 8 S 2
I 99 T A T8d1 8, 9 0 Gal 1 AT 4 Bl 8 |7 F=a8 A g e ae | 18
gafe 6 7 ot 2

Options:

AR F4H 3w =
B1334567645, w e

U &Y 54 39 929 =9
91394367650

H1334567651. o il

9T =4 S0 T4 =2
91394367652,

Question Number : 114 Question Id : 91394317220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Matech the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List 1T
(Provision for) (Section of LP.C.)
(a) General explanation of ‘life’ (i) Section 45

(b) Act of judge when acting judicially (ii) Section 52
(e) Act of child under seven vears of age (iii) Section 77
(d) Explanation of ‘Good faith’ (iv) Section 82
Code:

Options:

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234267653,

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
H1334567654,

(a)—(1), (b)—(iii), (c)—{iv), (d)—(ii)
91334367655,

(a)—iv), (b)—(iii), (e)(ii), (d)—(1)
91394367656,

Question Number : 114 Question 1d : 91394317220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl o1 gt 11t wgl & faram ifsr oit = feg o e 9 & ot 3wt =t 9fi

et 1 ESipi
(3uae) (v g2 wifgar < um)
(a) S’ it g7 =3TE= (i) 9T 45
(b) = e e gu = 1 FeF () =T 52
(¢) 7998 %9 IF & o= & Fed (iii) °T 77
(d) ‘geMTaES H saTE (iv) 9T 82
He:
Options:

(a)(i), (b)—(ii), (e)—(iii), (d)-iv)
91594367653,

(a)(ii), (b)—(iv), (e)-(i), (d)iii)
91394367654,

(a)—i), (b)—(iii), (e)—(iv), (d)—(ii)
91394367655,

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234267656,

Question Number : 115 Question 1d : 91394317221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A, a public officer, is authorised by a warrant from a Court of Justice to apprehend Z. B,

knowing that fact and alse that C is not Z, wilfully represents to A, that C is Z, and therehy

intentionally causes A to apprehend C. In this case B abets the apprehension of C by
Options:

Aiding only
215394267657,

Instigation onl
A1=294267E5E, stig v

Conspiracy onl
91394267559, spiracy v

Aiding and instigation
Q1394367560 8 stig

Question Number : 115 Question Id : 91394317221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T g W Wi ghed % fou 0, vk wieh siftrenrlt it arie gro wiftka TR e @ 1 Y 3w wma
H w70 fo Y S’ 4 R, 0w S @ 3w @ R U S @ of 3| ven sege T g
ot =t grear 2a1 8 | 3@ e § S Y F yhga™ % forw I #

Options:



HIF HarEdl
B1334567657. B

91334567658, e

qT3 9245
91394367659, sl

HEEAT T IhETHR
91394367660,

Question Number : 116 Question Id : 91394317222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I (name of case) with the items of List II (offence) and choose the
correct answer from the code given below.

List I List IT
(Name of case) (Offence)
(a) Vishwanath vs State of U.P. (i) Kidnapping

(b) State of Punjab vs Major Singh (ii) Private defence
(e) S. Varadarajan vs State of Madras (iii) Modesty of women
(d) Amar Singh vs State of Rajasthan (iv) Dowry death
Code:

Options:

(a)ii), (b)—(iii), (e)—(iv), (d)~(1)
91524267661,

(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
91534367662,

(a)—iv), (b)—(id), (e)-(iid), (d)—(1)
91394367665,

(a)iv), (b)—(ii), (e)—(i), (d)—(iii)
H1334567664,

Question Number : 116 Question Id : 91394317222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1 (arg 1 A4m) it wgl gt 11 (sra) 6wt @ firem $ifsg o = fou me e & @ adt s

&t g |
qe I qE 1T
(arg =1 ) (sraue)

(a) favary sAm SR W TSI () W
(b) U U9 5 W fiiw (i) aATeEm
(c) TH. ST T HgE TG (iii) wfgenm i &=n
(d) 377 g o9 TRAE TSE (iv) SR Bl

He:

Options:

91334567661,

B1334567EE2Z,

2159426 7EES.

B1334Z67664,

Question Number :

(a)—(ii), (h){iii), (e)—(iv), (d)—(i)

(a)—(ii), (b)—{iii), (e)—(i), (d)—iv)

(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)

(a)—(iv), (b)(ii), (e)—(i), (d)iii)

117 Question Id : 91394317223 Question Type: MCQ Option Shuffling : Yes Display Question Number

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asszertion (A) :

Reason (R) :

Code :

Options:

91334567665,

9133456766,

H1334567EEY.

215339426 7BEE.

A person imports into India from a foreign country or from the State of
Jammu and Kashmir, a girl with the intention of forcing her to illicit
intercourse with another person, shall be punished with ten years
imprisonment.

It is so provided under Section 366 — B of the Indian Penal Code.

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

:Yes



Question Number : 117 Question Id : 91394317223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A= 3 A fe e B, i & o arfirme (A) B 3 g@0 96 (R) 8 | Sl i afen sfi e few o
e *1 FE F T I g |
sfirpeT (A) - afg #ir§ =afe et aght it v & aret & foreft 3o 8 o s ol o= 9, 38 fedt
7 =afes & g G H & fore faaw 03 & smm @ smama #aT &, 9 9 1099
o wrrarE d gfea g )
% (R) : yrdta g8 dfgar it U 366 — @ o i $H 399y foham man § |
e
Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar & |
A1E94Z267 R0, ﬂ‘ﬁi?tﬁﬁ Hﬁ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394367666,

(A) T& &, Td (R) Terd & |
91394367667

(A) T 8, WG (R) &8t 2 |
91394367668,

Question Number : 118 Question Id : 91394317224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Nothing is an offence which is done by a person who, at the time of doing it,
by reason of unsoundness of mind is incapable of knowing the exact nature
of the act.

Reason (R): Mistake of fact is a good defence and mistake of law is no defence.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
915394367669,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594287670

(A) is true, but (R) is false.
Q13943267671

(A) is false, but (R) is true.
B1334567E7Z.



Question Number : 118 Question Id : 91394317224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= 3 A fe e B, i & o arfirme (A) B 3 g@0 96 (R) 8 | Sl i afen sfi e few o
e *1 FE F T I g |
firperT (A) - U8 =gt % gra foem o = g stony T} 9 39 F S w0 gey weiEe e
Jieh 78 8 % FR0 38 Fea hit Sh-Jieh v F T= F am R
% (R) : e ) Tt ool 79 ¢ N F dadft et FE = @ e
% :
Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394367669, T wd ¢

(A) 3 (R) g1 @t &, T (R), (A) it 9t = 76 # |
91394367670,

(A) §8 B, T (R) Teid 8 |
91394367671,

(A) TeTd &, 9g (R) &t 2 |
91394367672,

Question Number : 119 Question 1d : 91394317225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The employer need not commit a series of unfair transactions before he could
be held guilty of unfair labour practice.

Reason (R): The purpose of Industrial Disputes Act is to prevent industrial strife — in
other words to prevent anything from happening which could lead to
Industrial Disputes and not merely to punish it after it has been practised.

Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
Q1594287673
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294367 EY 4
(A) is true, but (R) is false.
Q1394267675
(A) is falze, but (R) is true.
1539428V ETE,

Question Number : 119 Question Id : 91394317225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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58 ¢ |
He:
Options:

(A) 3 (R) q9T (R), (A) i 98t =amean & |
91394367673, i wd & e &

(A) 3 (R) g1 @t &, T (R), (A) it 9t = 76 # |
91394367674

(A) §8 B, T (R) Teid 8 |
91394367675,

(A) T &, Wg (R) @&t 2 |
91394367676,

Question Number : 120 Question Id : 91394317226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“The application of the Industrial Disputes Act to organisations which were, quite possibly,
not intended to be so covered, might have done more damage than good, not merely to the
organisations but also to employees, thus the decision in Bangalore water supply case
requires to be re-examined.”

In which one of the following cases the above has been observed ?

Options:

M.P. Electricity Board vs Jagdish Chandra Sharma
1394367677,

91394367675, Hombe Gowda Educational Trust vs State of Karnataka

Coir Board, Ernakulam, Cochin vs Indira Devi P.S. and others
Q1594287679

State of Haryana vs Piara Singh
21394267680,

Question Number : 120 Question Id : 91394317226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“sitentfire fararg srfufem #t 37 @i, st avaa: so wive 56 9, war g o= @ 3 %aa
HaAl H afew FHATE M TN 8 Al THET 31 R, 3@ TR R T AYfd w7 F fere

u foolg <t ggare & S sEvEs g 1

Frfafiaa & &

Options:

forw gt # I feomft fr g 2 2

e YeF SeAfacitdt Wid == e =g wwt

1594267677,

91334567678

Bl 1181 U ¢6 STH FAlesh U
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B133456767 3.

2153394267680

Question Number : 121 Question Id : 91394317227 Question Type: MCQ Option Shuffling : Yes Display Question Number

Single Line Quest

sfemn uwa sam @ fag

ion Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Social justice is not based on (i) J.K. Iron and Steel Company Ltd.
contractual relations and is not to vs Iron and Steel Mazdoor Union

be enforced on the principles of
contract of service

(b) Decision of the Tribunal must be (ii) Rashtriya Mill Mazdoor Sangh
hased on established principles and vs Appollo Mills Litd
not import any notion of so called
justice or compulsion to safeguard

the interest of workmen

(c) The very important philosophy that (iii) State of Bihar
the concept of Industrial peace is vs Kameshwar
positive and postulates the
existence of the understanding,

cooperation and sense of
partnership between employers and

employees
(d) The Supreme Court emphatically  (iv) Standard Vacuum Refining Company
propounded the very idea of social vs Its Workmen

justice in the form of general
interest of the community in its

historical
Code :

Options:

91334567681

judgement

(a)(ii), (h)—1), (e)-(iv), (d)iii)

:Yes



(a)—(i), (b)—(ii), (e)—(iii), (d)—liv)
91394367682,

(a)(iii), (b)(iv), (e)(ii), (d)—(i)
91394367683,

(a)—iv), (b)(iii), (e)(ii), (d)—(i)
91394367654,

Question Number : 121 Question Id : 91394317227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o gt 11t wgl & farama Aifsrg ait = feg e e 9 & ot 3w =6t 9fiw

e 1 T 1T

(a) GraThas = dfagrers gaut w amafE 78 () 9%, e we Hie et fafide
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yafea 78 o s g
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1 a1 78w =fge

(c) @gd wecapl figia & for oftenfirss wifa ft (i) fearem o= s sptwan
HAGYTION TehiTcHs & 3 3a8 Framrad it
et & ot g, TEEm ot Ansier
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(d) I =TaTerd A s Uftarfies fofa (iv) Wed Jwgn frergdt Soft = m 39
g™ % a4 fea % w9 o amnfes = HHTH
6t sgyrn i Afrge 99 g e @

®e:
Options:

(a)(ii), (b)—(1), (e)-(iv), (d)iii)
91394367681,

(a)(i), (b)—(ii), (e)-{(iii), (d)-iv)
91594267682,

(a)iii), (b)~(iv), (e)-(id), (d)~(D)
91394367683,

(a)—{iv), (b)—(iii), (e)—(id), (d)~1)
91394367654,

Question Number : 122 Question Id : 91394317228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is wrong 7

Options:



An employer must have committed a series of unfair transactions before he could be held
guilty of unfair labour practice.

915394367655,
A settlement outside the conciliation proceedings would bind the parties to the agreement
and a settlement under Section 158(3) of the Industrial Disputes Aet as a result of
91394536 TESE. conciliation would bind all the workers.
The union which represents the largest number of workmen working in the undertaking
must acquire the status.
A1594Z67EETY.
The employer has to give an opportunity and preference to retrenched workmen for
re-employment.
1594367658,

Question Number : 122 Question Id : 91394317228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafefiaa & @ <991 7o 2 2
Options:
fereft Frgrert =t arafea gw wftardt &6t grdt o o & qd 98 gro sefaa
91394367685, - FF A A |
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91394367688,

Question Number : 123 Question Id ;: 91394317229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The strike or lock-out shall not be deemed to be illegal

Options:

If the strike or lock-out has commenced after the reference of disputes to the authorities

91394367659, Under the Act.

If the strike or lock-out has commenced before and continued even after the prohibition

under Section 10(3) of the Act.
Q1394267590



If the continuance of strike or lock-out has not been prohibited by the order made under

Section 10 — A (4 — A) of the Act.
Al13a42e7E891.

If the strike or lock-out was in contravention of this Act only at its commencement.
91394367692,

Question Number : 123 Question 1d : 91394317229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FEATel o1 qTeradt =y Fg At smoft

Options:

afe afufam & sifa witerd #t faams) 1 w2 37 % w1g ggaTal 1 qTamed) TF & 8 |
91394387689,

afe ggdTe a1 aremadt, fufrm, i am 10(3) % FHarfa Fiurn s EE @ 0 e g @ s

% g ot wr
91394367630, L e W

Ife gedra 91 dramadl o At T i sfefEm i 9 10 - A (4 — A) % FHarla feg T sy g

Frrg = form B
91394367691

afg gearer a1 areed! hit YHIATE ® gu Faa g6 sfufrEm F Iee e e
91394367692,

Question Number : 124 Question Id : 91394317230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An application to the Tribunal by an employer seeking permission to discharge or dismiss a
workman during pendency of the proceedings in respect of an Industrial Dispute :

Options:

91394367693, Is not maintainable in all cases.

Is maintainable even if bonafide conclusion has not been reached in respect of certain

91394367694, OTIImen.

Is maintainable if found that all the proper steps have been taken and bonafide conclusion

has been reached in respect of misconduct of the workmen.
21594267655,

Is maintainable even if prima facie case is not made out.
91394367696,

Question Number : 124 Question Id : 91394317230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

2153942676593, Sl e e T R

fereft T % Wl o areafas Pl o T g o oft S T @
91394367694,
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91394367695,

feufa & ot == g
91394367696, & o9 ForgsedT AT & b |

Question Number : 125 Question Id : 91394317231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are correct ?

(i) An Industrial Dispute can arise when a demand is made by the workman and denied
by the employer.

(ii) Industrial Dispute is a dispute between employers and employers or between employers
and workmen or between workmen and workmen.

(iii) Employer’s failure to fulfil his verbal assurances is an Industrial Dispute.
(iv) Industrial Dispute will subsist in spite of closure of industry.

Choose the correct answer from the code given below :

Code :
Options:

(1), (ii), (iii) and (iv) are correct
A1 394267697,

(ii) and (iv) are correct
Q1394367 E98,

(i) and (iv) are correct
A1 294267899,

(i), (ii) and (iv) are correct
Q1394267 700.

Question Number : 125 Question 1d : 91394317231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 126 Question Id : 91394317232 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements are correct in relation to the growth of Administrative law

in India ?

(i) In the pre-constitutional period, a system of administrative legislation and adjudication
existed.

(ii) The philosophy of welfare State was made the creed of the Indian Constitution.

(iii) In the new economic order, State is withdrawing from business, yet its functions as
facilitator and regulator are increasing. It will inerease the significance of
administrative law.

(iv) All administrative matters are dealt by the Administrative Courts and their decisions
are final and not subject to judicial review by the Supreme Court and High Court.

Choose the correct answer from the code given below :

Code :
Options:

(1) and (ii) are correct
Q1394267701

(ii) and (iv) are correct
Q13942677 02,

:Yes



(1), (ii) and (iii) are correct
Al13943267 703,

(1), (ii), (iii) and (iv) are correct
Q13943267704

Question Number : 126 Question 1d : 91394317232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Wi ® el fafl % foama % gag d Pefefan da sha smad €0
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Options:
s1394367701, O TR WTAE
o1394367702, W I TAE

(1), (i) 31 (iii)
Q194267703 Eﬁﬁ

(), (id), (iii) 3 (iv)
Q1294267704 vl o H‘a"lﬁ

Question Number : 127 Question Id ;: 91394317233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements are correct in relation to principles of natural justice ?
(i) Principles of natural justice have enriched law and Constitutions the world over.

(ii) Uniform ecut and dried formula can be laid down to determine real likelihood of bias.
Each case can’t be determined on the basis of its facts.

(iii) Reasons for its decision by any authority substitutes subjectivity with objectivity.

(iv) Ifin a given case, only prior hearing would achieve the object of the exercise of power it
must be dispensed with and subsequently post-decisional hearing can be provided as a
substitute.

Choose the correct answer from the code given below :

Code :

Options:



(1) and (ii) are correct
Q1394267705

(iii) and (iv) are correct
Q1394267 705,

(i) and (iii) are correct
Q1394267 707.

(ii) and (iv) are correct
Q1394267 7F08,

Question Number : 127 Question Id : 91394317233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Yafife = % fagia & dag 4 Frofefies 4 @ sh8 s ad 82
(i) A=fife =ma % fagral 3 fava s fafa off dfagri =t agg fem 2

(i) qatug it areafas gara &1 Fafor @ % fog s gum it vaen Fram o e s o 7
avft wret st Frafor 3ok et % amam o T e s w7

(iii) Foreft sfrsrrt g form st arer Fofar 3 shrow fermarfersgen =t aeqfean & wfoeenfis =@ @

(iv) afe foreft ot & Sae qd-grars & wfvs <t warag 1 weg e g At IEH @ A e
Fit 3o a1g fase & v 4 Fofa & arg 6t garg &1 wraar foen sn g 2 )

fre e e & & @ I w g
% :

Options:

91394367705, R (i) W &

01594367706, (i) 3 (iv) 781 &
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91394367708, (i) R (iv) TE &

Question Number : 128 Question 1d : 91394317234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of List I (name of case) with the items of List II (ground of judicial review)
and choose the correct answer from the code given below.

List I List IT

(Name of case) (Ground of judicial review)
(a) Union of India vs Hindustan (i) E=xtraneous consideration

Development Corporation

(b) Institute of Law, Chandigarh vs (ii) Legitimate expectations
Neeraj Sharma

(c) Council of Civil Services Union  (iii) Public accountability
vs Minister for The Civil Service

(d) Centre for PIL vs Union of India (iv) Proportionality
Code:

Options:

(a)—(D), (b)(ii), (e)-(iv), (d)iii)
91394367709

(a)—(ii), (b)—(1), (e)Liii), (d)-iv)
91294267710,

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394367711,

(a)—(ii), (b)—(iii), (e)~(iv), (d)—(i)
91394367712,

Question Number : 128 Question Id : 91394317234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gt 1t w5l (qhcH @1 ) i gt 111 751 (= aeften &t smam) & e $ifse ot = foe
T % H H Wt IR 9w |

I A I
(gaH 1) (=afirer wreften & 3THR)
(a) i 1w 3fem aam fergram Jaavie wrftem () aredt fa=mm
(b) st 3% &, Sdhmg @ m frar ymt (ii) =TT sTEd
(c) wr3fte s fafae afdaa gfem (iii) e Sarargat
wm fufeet wn fg fafas ofda
(d) et R .37 ue. = gfEa o sfean (iv) Frd &
e :
Options:
(a)=(i), (b)—(id), (e)—{iv), (d)—(iii)
91394367709,

(a)—(ii), (b)—(1), (e)-iid), (d)-iv)
91394367710.



(a)—{iv), (b)—(iii), (e)—(id), (d)~1)
91394367711,

(a)—(ii), (b)iii), (e)(iv), (d)—(i)
91234267712,

Question Number : 129 Question 1d : 91394317235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Judicial review of administrative actions under Articles 32 and 226 is part of
the basic structure of Indian Constitution.

Reason (R): It was held to be so by the Supreme Court in L. Chandra Kumar vs
Union of India.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21394267713,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91594367714

(A) is true, but (R) is false.
91394267715,

(A) is falzse, but (R) is true.
Q1594367716

Question Number : 129 Question Id : 91394317235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= 3 A fe e B, i & o arfirme (A) B 3 g@0 96 (R) 8 | Sl i afen sfi e few o
e *1 FE F T I g |
SfiweT (A) : Ao 32 37N 226 % i wemafie wriargat f =y witen wredta @faus % 1@

i H AR |
7 (R) : I AT g U, 53 FAN SHE Y 869 gheh § 39 ety it 3fea gemn
97 |
e
Options:
01394367713, 3f(R) GHT & & 791 (R), (A) 6t &) e § |

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394367714,



(A) T& &, T (R) Terd & |
91394367715,

(A) Ted B, T (R) TR R |
Q12943677 1E.

Question Number : 130 Question Id : 91394317236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following are within the jurisdiction in respect of inquiry under Section 14
of the Lokpal and Lokayuktas Act, 2013 ?

(i)  Any Group ‘A’ or Group ‘B’ officers
(ii) Any Group ‘C’ or Group ‘D) officials
(iii) Any Group ‘E’ or Group ‘F’ employees
(iv) Any Group ‘G’ or Group ‘H’ workers
Choose the correct answer from the code given below :
Code :
Options:
215394367717, Only (1 is correct

(i) and (ii) are correct
Q1=2942677 18,

(1), (ii) and (iii) are correct
Q1294287719

(1), (ii), (iii) and (iv) are correct
Q1294367720

Question Number : 130 Question Id : 91394317236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AteraTer 3 g aAfafm, 2013 9T 14 % vl o= % day § Frafafas & @ 5
Ffrepifoar o ot ama & 2

Q) gg % o1 gyg @ % wiE ot st
(i) gogg 7 71 wqg ‘o % 1§ ft w=r
(ill) gog ‘g o w9 % @ig it FewEd
(W) goe 87 @ wqg W & Hrg ot FEr
Fr= fau M 5= 7 @ T I 1 g
He:

Options:

Fad (i
91394367717, DEh R



(i) T (i
91394367718, } )78 &

(1), (i) 3 (iii)
91394367719, w

(1), (i), (iii) 3T (iv)
91394367720, wh e

Question Number : 131 Question Id : 91394317237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following powers is nof vested with Lokpal under
Chapter-VII of the Act, 2013 ?

Options:

91394357721 Fowers of search and seizure

913943687722, Powers of criminal court in certain cases

91394367723, Powers of attachment of assets

41394257754, Powers to utilise services of officers of Central or State Government

Question Number : 131 Question Id : 91394317237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wAfafm, 2013 % FEAE-VIL % #Hdaiq areara | Fefafan saodt ofe g 27 2 2
Options:

B91334567721. SR habid

e "l 3 A e i wfw
91394367722,

ofiufert 6 5o 1 7
Q1394367723

Fg, AT TG TR o Aferehifedt it daradt =1 399 *i 6 716
91394367724,

Question Number : 132 Question Id : 91394317238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is net the function of the Central (Pollution Control) Board
under the Water Act, 1974 ?



Options:

To advise the Central Government on any matter concerning the prevention and control of

water pollution.
215394367725
To co-ordinate the activities of the State Boards and resolve disputes among them.
1594267726,
To advise the State Government on any matter concerning the prevention, control or
abatement of water pollution.
15942687727,
To provide technical assistance and guidance to the State Boards, carry out and sponsor
investigations and research relating to problems of water pollution and prevention, control
or abatement of water pollution.
1394367728,

Question Number : 132 Question Id : 91394317238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafiaa # & 70 wa sfufem, 1974 % simfa S (g frefan) & 1 wef 78 2 2

Options:

el Wgu it Tepam it o & wafera foreft wrel W S5 AR it deme 3 |
91394367725,

=9 a1El & Frdewardt & aa-ag Fe1 3 3T faard =t gegmn |
91394367726,

el Tgu i T, i o it & Hafe faredt vt W TS wRER B e 3
91394367727,

T |1S] i detenl Heraal 1 femfEy s e, Fe v i wwena o S vgw f
150436 7708 Topemd, T, 4t © wafia wfe oft wia e ofk 3 wrifom w6 |

Question Number : 133 Question Id ;: 91394317239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The Government could not control pollution, in spite of the Continuous
Environmental Monitoring System (CEMS) introduced in 2014.

Reason (R): Environment related data, especially on the performance of polluters, has
always been both limited in scope and invisible to the public.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
915394367729,



Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594287 730.

(A) is true, but (R) is false.
Q1394267731

(A) and (R) are incorrect.
Q1=Z94267722,

Question Number : 133 Question Id : 91394317239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr= 31wy feu e 8, ford @ us e (A) @ 3 gEo 7% (R) B | Sl =i fen st = fag mo
Fe I TEM FHE I g |
Ffieme (A) : SR 2014 T 9 fore T Fdtmgar wamEEe At e (dimm.) %
arag, wguw &t Frafaa 8w wdh |
% (R) : vafator # fasa: vt % wdf & dafua srfwet & gt difira § oftcwy @, <mi %
fere srgwa 2 |
% :
Options:

(A) #(R) 9T (R), (A) 1 Tt =g & |
91394367729, = w &

(A) 3R (R) 31 =&t €, 7= (R), (A) it ot =amen i & |
91394367730,

(A) Tt B, (R) Tefd & |
91394367731, A

A) F (R TeAd 2 |
91394367732 @ 3R R®) 2 g

Question Number : 134 Question 1d : 91394317240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Code of Criminal Procedure which contains some general provisions to cover ordinary
gituations came to be regarded as an instrument to combat pollution in 1980z and was
utilised in one of the following cases :

Options:

91304357733, Subhash Kumar vs State of Bihar

913294367734, Charan Lal Sahu vs Union of India

41394367735, A P. State Pollution Control Board vs Prof M.V. Naidu



Municipal Council Ratlam vs Vardichand
91394367736,

Question Number : 134 Question Id : 91394317240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

52 wfsran dfeat forest wmma it @ e & fog 3o o= awaw &, =6t 1980 % goe § wgm
it Tepam 11 % ToIe o e 5 =9 F " R 38 Frefafiad 96l | @ o 4, 9 | e
™

Options:

YT FAR T faEr ws
91394367733,

=T el TR & WA 99
91394367734,

g T Forzmr 912 =m0t
91394367735, s W AL TS

T fm aftee, w@em 99 9di=e
91394367736,

Question Number : 135 Question 1d : 91394317241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Bonn Convention is associated with :
Options:

Convention on International Trade in Endangered Species
21394267737,

International Whaling Convention
215942677358,

Convention on Migratory Species
Al1294267 739, Ty Spea

91394367740, Convention on Nature and Natural Resources

Question Number : 135 Question Id : 91394317241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
a1 ey ferad dafea & 2

Options:

HeFeTTs Faferal % Fqusg samn et afie 8
91394367737,



Fadta sefem sifimma &

91334567738,

B1334567739. st Rakl q

1 s waraA gadt s @
91394367740, i

Question Number : 136 Question Id : 91394317242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List IT and choose the correct answer from the
code given below.
List I List IT
(a) Trail Smelter’s Case (i) Reducing transboundary movement of
hazardous waste

(b) Basel Convention (ii) Climate change

(c) Earth Summit (iii) Preventing pollution and environmental
damage between Nations

(d) Kyoto Protocol (iv) United Nations Conference on
Environment and Development

Code :
Options:

(a)—(iii), (b)—(1), (e)—{iv), (d)—(ii)
91334367741,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234267742,

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
H1334567743.

(a)—{iv), (b)—(id), (e}—(i), (d)—(iii)
91334267744,

Question Number : 136 Question Id : 91394317242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl o1 gt 11t wgl & faram ifsr oit = feg o e 9 & ot 3wt =t 9fi

gt I
(a) 36 THee (i) AT Sfime i U 30 B g A
it & we 9 i nfafafy w5 w7 w5
(b) FHSA T (ii) Serary e
(e) ¥1df mfie (iii) wguor 3T gt % e wataefy af f
Tehyms
(d) Fret Sretahict (iv) Fgw g watar it fawm wden
He:
Options:
(a)—(iii), (b)), (e)~(iv), (d)—(ii)
91394367741,
(a)—(1), (b)—(i), (e)—(iii), (d)—(iv)
91394367742,
(a)=(ii), (b)~(iv), (e)~(i), (d)—(iii)
91394367743,
(a)—(iv), (b)—(ii), (e)—(1), (d)iii)
91394367744,

Question Number : 137 Question 1d : 91394317243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
To give constitutional sanection to democracy at the grassroot level through Panchayat and
Municipalities, 73" and 74'® Amendments were made in 1992. Which one of the following
subjects related to Environment is not found in the Twelfth Schedule ?

Options:

Urban planning including town plannin
Q1394367745 P 8 8 P 8

lation of land d construction of buildin
9130436774, 8vation ofland use and construction of buildings

Animal husbandry, Dairying and Poul
Q1594287747 dry, Dairying by

Public health, sanitation, conservancy and solid waste
Q1594367748

Question Number : 137 Question Id : 91394317243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qErd 3 A Pt % arem @ s w9 At it gt w@fiefa 3 2 1992 # 734 sl
74t gt e o | Frefafia | @ watan @ gafia s-an faw aned gt & a8 & 2

Options:



T st g wEl e
91394367745,

oft % 3w ait waa Fafo & fafee
91394367746,

QITEH, T Ieared i it e
91394367747, K o

wieh e, Taeadl, e A 3 Fufine
91394367748,

Question Number : 138 Question Id : 91394317244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Matech the items of List I with the items of List II and chooze the correct answer from the
code given below.

List I List I1
(Year of Adoption) (U.N. Declaration)
(a) 1971 (i) Declaration on the Right to Development
(b) 1975 (ii) Vienna Declaration on Human Rights
(c) 1986 (iii) Declaration on the Rights of Mentally Retarded persons
(d) 1993 (iv) Declaration on the use of scientific and technological progress
in the interest of peace and for the benefit of mankind
Code:
Options:
(a)—(ii), (b)—(iii), (e)—(iv), (d)—(1)
1594367749,
(a)—iv), (b)—(i), (e)(ii), (d)(iii)
91394367750,
(a)—(iii), (b)—(iv), (e)-i), (d)—(ii)
21394267751,
(a)—(iii), (b)—(i), (e)=(iv), (d)—(ii)
91394367752,

Question Number : 138 Question Id : 91394317244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl o1 gt 11t wgl & faram ifsr oit = feg o e 9 & ot 3wt =t 9fi

1 Lipll
(7éra forn =t = =) (iR g IgETyOm)
(a) 1971 (i) o = sfism i 3gEmon
(b) 1975 (i) e arafirsr diwor
(c) 1986 (i) #rfires ®9 & 6g 9fg a1t =i %
sifirpret <t s
(d) 1993 (iv) wifa s areents & faa & Sk ot
vrertfrehr famra & 3w dedt wiwor
He:
Options:

(a)—(ii), (b)—(iii), (e)(iv), (d)—(1)
91394367749,

(a)—=(iv), (b)), (e)—(ii), (d)—(iii)
91394367 750.

(a)—iii), (b)~iv), (e)i), (d)—(ii)
91394367751,

(a)—{iii), (b)), (e)—{iv), (d)—(ii)
91394367752

Question Number : 139 Question Id ;: 91394317245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Matech the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(Article in UDHR) (Content in UDHR)
(a) Article 9 (i} Everyone has the right to own property

alone as well as in association with
others. No one shall be arbitrarily

deprived of his property.

(b) Article 13 (ii) No one shall be subjected to arbitrary
arrest, detention or exile.

(e) Article 15 (iii) Everyone has the right to freedom of

movement and residence within the
borders of each state. Everyone has the
right to leave any country, including
his own and return to his country.

(d) Article 17 (iv) Everyone has the right to nationality.
No one shall be arbitrarily deprived of
his nationality and denied the right to
change his nationality.

Code :

Options:



(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394367755

(a)—(ii), (b)iii), (e)(iv), (d)—(i)
91234267754,

(a)(ii), (b)—(iv), (e)-(i), (d)iii)
91394367755,

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394367756,

Question Number : 139 Question Id : 91394317245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl 1 gt 11t wgl & fram Aiforg sit = feg e e 9 & ot 3w =t 9f

g1 e II
(gt vmam d arqeae)  (Z.fhuw.am. | Rwges)

(a) =g 9 (i) W sAfeh ot et iR gatl & w1y wwaf @
1 safapr B | foreht it w9l @ anot
gufs @ afea 78 @ smon |

(b) =g 13 (ii) r§ safer Faa &7 d firceardt, fadta an sfissoon
= areqefi 74 g

(¢) #g=eg 15 (iii) Wedreh =afer i Wedeh U= i dimadt % e
AA- 3 Frara it wadaa 1 sfien |
T =afth A 3 wHa FRet o @ weam
A 3 I 29 TTIE wte F AR R

(d) 7= 17 (iv) T =afes Ft TS # st § | frd safn
i A B @ A et & afva T8 e
e 3 38 A It 9geH % Aften =t
Tt T8t fopan s |

He:

Options:

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394367753

(a)—(ii), (b)—(iii), (e)(iv), (d)—(1)
91394367754,

(a)—(ii), (b)—(iv), (e)—(i), (d)—{iii)
91394367755,

(a)—iv), (b)—(iii), (e)-(id), (d)—~1)
91394367756,

Question Number : 140 Question 1d : 91394317246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct ?

(i) The Chairperson and Members the State Human Rights
Commission shall be appointed by the President under his
hand and seal.

(ii) The Chairperson or a Member of a State Human Rights
Commission may, by notice in writing under his hand

addressed to the Governor, resign his office.

(iii) The President of India may, by order, remove from office the
Chairperson or any Member as the case may be, if adjudged
an insolvent.

(iv) On ceasing to hold office, a Chairperson shall be eligible for
further employment under the Government of India.

Choose the correct answer from the code given below :

Code :
Options:

Only (i) and (ii) are correct
215394267757,

Only (i) and (iii) are correct
91394367758,

Only (i) and (iii) are correct
91394367759,

Only (iii) and (iv) are correct
215394267760,

Question Number : 140 Question Id : 91394317246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fraferfiga & @ -8 s vt 2 7

(i) =9 HHETTURT AN % Jaerd A aeet A e gty 5
gETE FH qEt & Bt |

(i) T4 WEToHR AT % SareEs R e veare wi fafea
Aifed S A9 98 A FEAIH S Fhd ¢ |

(i) Wi = Tregafer, ey a1 i gewa St ot feufe &, % feanfen
wHifira fere s o 319 Sy & we=ga U HHAT R

(iv) 379t ggTafe GaTca B O SEI9EA WId G & A 3 9g W
i w0 W forw atd g |

1 fim e g F A T sw oA g
e
Options:

91394367757 (@) 3 i) 7



B133456775E.

B1334567759,

B1334567760,

e (i) 3 (i) wd &

Fae (i) 3 (i) Td &

Fae (i) 3 (iv) =t &

Question Number : 141 Question Id : 91394317247 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Matech the items of List I with the items of List I1 and choose the correct answer from the
code given below.

List I List IT
(Sections in the Protection of (Content in the Protection of
Human Rights Act 1993) Human Rights Act 1993)
(a) Section 37 (i) Constitution of Special investigation teams
(b) Section 38 (ii) Power of Central Government to make rules
(¢) Section 39 (iii) Protection of action taken in good faith
(d) Section 40 (iv) Members and officers to be public servants
Code:
Options:
(a)—(ii), (b)—i), (e)—(iv), (d)—(iii)
91394367761,
(a)—(i), (b)—iii), (e)-(iv), (d)—(ii)
91394367762,
(a)—(iii), (b)—(iv), (e)ii), (d)—(i)
21394267763,
(a)—(iv), (b)—(ii), (e)—(1), (d)—(iii)
1594367764,

:Yes

Question Number : 141 Question Id : 91394317247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t wgl o gt 11t wgl & fram iforg ait = feg e e 9 & adt 3w =t 9f

e 1 Tt I
(wranfirsr wreror srfifam, (wranfiren wrao srfafam,
1993 ht &) 1993 i aiaaeg)
(a) 9T 37 (i) fasm sr=awor S &t mea
(b) €T 38 (i) Fr wehr A Frem =9 i ofe
(c) T 39 (iii) TgHTE B F 7E FHriarg w1 GqLE
(d) 9T 40 (iv) Heea 3 sAfirerdt o daw gt

He:



Options:

(a)—ii), (b)—(1), (e)—-(iv), (d)—(iii)
B13345677E]L.

(a)—(i), (b)—(iii), (e)—iv), (d)—(i1)
B133456776E.

(a)—(ii1), (b)—(iv), (e)—(1), (d)—(1)
91334567763,

(a)iv), (b)—(ii), (e)—i), (d)—1ii)
B1334567764,

Question Number : 142 Question Id : 91394317248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The National Human Rights Commission was established in India
on :

Options:

nd
91294267765, 2" October 1993

nd
91394367766, 22" November 1993

_th
91394367767, 20 Dovember 1993

nd
91394367765, 27 December 1993

Question Number : 142 Question Id : 91394317248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W & TSI WA AEnT i T g off
Options:

2 FagaL, 1993 Hi
91394367765,

29 TarEl, 1993 i
91394367766,

25 Tavat, 1993 Fi
91394367767,

2 fegwan, 1993 =t
91394367768,



Question Number : 143 Question Id : 91394317249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements are correct ?

(i) Lawless vs Ireland was the first case decided by the
European Court of Human Rights.

(ii) Ireland vs United Kingdom is related to Article 3 of
European Convention of Human Rights which deals with
freedom from torture and inhuman or degrading treatment.

(iii) The U.N. Commission on Human Rights was replaced by
Human Rights Committee in March 2006 by the General
Assembly.

(iv) The Commission on the Status of Women is a funetional
commizsion of the Economic and Social Couneil (ECOS0OC)
established in 1948,

Choose the correct answer from the code given below :

Code :
Options:

Only (i) and (ii) are correct
91394367769,

Only (i) and (iii) are correct
215394267770,

Only (ii) and (iii) are correct
91394367771

Only (iii) and (iv) are correct
91394367772,

Question Number : 143 Question 1d : 91394317249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fefafeada shd smadh £
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To safeguard the interest of the shareholders through class action suits, an application may
be made to the Tribunal. Which one of the following is wrong ?

An application

Options:

to restrain the company from committing an act which is ultra vires the Articles or

91394367773 Memorandum

to restrain the company from committing breach of any provision of the Company’s

91394367774 Memorandum and Articles

to restrain the Com from taking action to any resolution passed by members
Q1=Z9426777E. pany g Y Y

to restrain the Company and its Directors from acting on a resolution obtained by

mis-statement to the members or depositors
1394267776,
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The Doctrine of Indoor Management was first laid down in the case of :

Options:

91394387777, lorris vs Kanssen

Howard vs Patent Ivory Company
91334267778,

Royal British Bank vs Turquand
91394367779,

Ruben vs Great Fingal Consolidated
21394267780,
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Where an individual is a common partner in two firms
Options:

no action can be brought by one firm against the other upon any transaction between them

=0 long as that individual continues to be a common partner.
21394267781,



an action can be brought by one firm against the other upon any transaction between them

even though that individual continues to be a common partner.
91394267782,

an action can be brought by one firm against other firm upon any transaction between

them but the common partner shall not be arrayed as a defendant.
91394267783,

an action can be brought by one firm against other firm upon any transaction between

them but th shall be excluded icipating in the proceedings.
91394367784, | o Ut the common parter e excluded from participating in the p gs
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When a partnership firm is constituted for a fixed period and after the expiration of that
term, the firm continues to carry on business, without new agreement, then

Options:

The partnership stands extended till the new agreement is made
91394267785, P

The partnership becomes partnership at will
Q13942677 EE. P P

The partnership becomes illegal
Q1394267 FEY. P 8



The partnership stands dissolved on the date of expiry of the term and no partnership can

9139436775 D Seid to be in existence
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Match the items of List I with the items of List IT under the Sale of Goods Act, 1930 and
choose the correct answer from the code given below.

List I List IT
(Section) (Provision)
(a) Section 15 (i) Implied conditions as to quality or fitness
(b) Section 27  (ii) Sale by description
(c) Section 16  (iii) Condition and Warranty
(d) Section 12  (iv) Sale by person not the owner

Code :
Options:

(a)-ii), (b)—(iv), (e)—(i), (d){iii)
915394267789,

(a)ii), (b)—(iv), (e)-iil), (d)~(1)
91324267730,

(a)—iil), (b)~id), (e)—(iv), (d)~1)
91334367731,

(a)—(i), (b)—(iv), (e)-{iii), (d)—(ii)
91234367732,
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91394367792
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The Latin maxim ‘nemo dat quod non habet’ means :
Options:
an innocent occupier of goods can pass a proper title.
21394267793, P g prope

no man can pass a better title than he has.
91334267734,

an innocent and bonafide purchaser gets a proper title as of a true owner.
91394367735,

a finder of goods can pass a proper title.
Q1394367 V 96, & prope
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A‘negotiable instrument’ means a promissory note, bill of exchange or
cheque payable either to order or to bearer.

Reason (R): Because it is said so under Section 13 of the Negotiable Instruments
Act, 1881.

Code :
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A).
15394367797,

(A) is falze, but (R) is true.
Q13942877 aE,

Both (A) and (R) are false.
Q1394367799

(A) is true, but (R) is false.
Q1 =294267500,
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